



EVALUATION TABULATION
ITB No. 26-T01201/JG
Mowing Service - Utilities Compounds
RESPONSE DEADLINE: January 12, 2026 at 10:00 am
Report Generated: Monday, January 12, 2026

SELECTED VENDOR TOTALS

Vendor	Total
Lortie Lawn & Landscaping LLC Perfect Green	\$127,476.70
Amazing National Services Group, LLC	\$127,920.00
ESB Light LLC	\$129,438.40
AB5 Enterprises	\$130,884.00
BigKing Services LLC	\$180,778.00
American Grounds Service LLC	\$193,700.00
JDMF, LLC	\$226,460.00
Central Florida Landscaping, Inc.	\$230,694.10
NDL LLC	\$521,851.59
Frederick's Legacy llc	\$732,108.00

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
PART I - LIFT STATIONS																
X	1	50 & 98 EAST SIDE OF 98 NEAR THE INTERSECTION OF 50 & US 98	26	EA	\$26.00	\$676.00	RM-LS 12	0.43	\$15.00	\$390.00	RM-LS 12	0.43	\$50.00	\$1,300.00	RM-LS 12	0.43
X	2	301 & 50 SR 50 EAST TO 301 BEHIND RIDGE MANOR APARTMENTS	26	EA	\$40.00	\$1,040.00	RM-LS 13	0.67	\$15.00	\$390.00	RM-LS 13	0.67	\$60.00	\$1,560.00	RM-LS 13	0.67
X	3	ACTION ST. LOCATED TO THE RIGHT OF 14247 ACTION ST. BROOKSVILLE 34613	26	EA	\$5.00	\$130.00	BK-LS 08	0.02	\$15.00	\$390.00	BK-LS 08	0.02	\$25.00	\$650.00	BK-LS 08	0.02
X	4	ALMOND CT. LOCATED TO THE LEFT OF 4328 ALMOND CT SPRING HILL 34608	26	EA	\$5.00	\$130.00	SH-LS 49	0.07	\$15.00	\$390.00	SH-LS 49	0.07	\$25.00	\$650.00	SH-LS 49	0.07
X	5	AMBERJACK DR. LOCATED ON THE CORNER OF AMBERJACK DR. AND SEA BASS DR. IN HERNANDO BEACH SOUTH	26	EA	\$5.00	\$130.00	HB-LS 36	0.075	\$15.00	\$390.00	HB-LS 36	0.075	\$25.00	\$650.00	HB-LS 36	0.075

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	6	ANDERSON SNOW RD. 2225 ANDERSON SNOW RD. SPRING HILL 34609	26	EA	\$6.00	\$156.00	AP-LS 33	0.10	\$15.00	\$390.00	AP-LS 33	0.10	\$25.00	\$650.00	AP-LS 33	0.10
X	7	APPLEGATE EAST OF LORI DR. ON THE SOUTH SIDE OF APPLEGATE (TIRES PLUS)	26	EA	\$5.00	\$130.00	SH-LS 05	0.02	\$15.00	\$390.00	SH-LS 05	0.02	\$25.00	\$650.00	SH-LS 05	0.02
X	8	AUDIBROOK DR. LOCATED ACROSS FROM 11082 AUDIE BROOK DR. SPRING HILL 34608, NEXT TO THE GOLF CART PATH	26	EA	\$6.00	\$156.00	SH-LS 65	0.10	\$15.00	\$390.00	SH-LS 65	0.10	\$25.00	\$650.00	SH-LS 65	0.10
X	9	AUTO-ZONE NORTH SIDE OF SPRING HILL DR. N.E. CORNER BEHIND AUTO-SONE NEAR US 19	26	EA	\$5.00	\$130.00	SH-LS 04	0.08	\$15.00	\$390.00	SH-LS 04	0.08	\$25.00	\$650.00	SH-LS 04	0.08
X	10	AVALON #1 13639 HUNTERS POINT ST. SPRING HILL 34609	26	EA	\$5.00	\$130.00	AP-LS 27	0.04	\$15.00	\$390.00	AP-LS 27	0.04	\$25.00	\$650.00	AP-LS 27	0.04
X	11	AVALON #2 950 OAK CHASE BLVD SPRING HILL 34609	26	EA	\$5.00	\$130.00	AP-LS 26	0.04	\$15.00	\$390.00	AP-LS 26	0.04	\$25.00	\$650.00	AP-LS 26	0.04

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	12	AVALON #3 COUNTY LINE RD. JUST WEST OF OAK CHASE BLVD. NEW ENTRANCE TO AVALON	26	EA	\$5.00	\$130.00	AP-LS00	0.04	\$15.00	\$390.00	AP-LS00	0.04	\$25.00	\$650.00	AP-LS00	0.04
X	13	BARCLAY AVE. LOCATED ON THE CORNER OF BARCLAY AVE. AND ASTAIRE LN.	26	EA	\$5.00	\$130.00	AP-LS 35	0.06	\$15.00	\$390.00	AP-LS 35	0.06	\$25.00	\$650.00	AP-LS 35	0.06
X	14	BASIL ST. ACROSS THE STREET FROM 9246 BASIL ST.	26	EA	\$5.00	\$130.00	BK-LS 17	0.04	\$15.00	\$390.00	BK-LS 17	0.04	\$25.00	\$650.00	BK-LS 17	0.04
X	15	BASS RD. LOCATED ON THE CORNER OF WESTSIDE AVE. AND BASS RD.	26	EA	\$5.00	\$130.00	WW-LS 23	0.03	\$15.00	\$390.00	WW-LS 23	0.03	\$25.00	\$650.00	WW-LS 23	0.03
X	16	BAY DR. EAST LOCATED TO THE LEFT OF 9229 BAY DR. SPRING HILL 34608	26	EA	\$5.00	\$130.00	SH-LS 46	0.05	\$15.00	\$390.00	SH-LS 46	0.05	\$25.00	\$650.00	SH-LS 46	0.05
X	17	BAY DR. WEST LOCATED ON BAY DR. ACROSS FORM PAVIA LN.	26	EA	\$5.00	\$130.00	SH-LS 45	0.05	\$15.00	\$390.00	SH-LS 45	0.05	\$25.00	\$650.00	SH-LS 45	0.05

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	18	BEST WESTERN SR 50 NORTH ON LAROSE ON THE EAST SIDE OF THE HOLIDAY INN	26	EA	\$18.00	\$468.00	RM-LS 10	0.30	\$15.00	\$390.00	RM-LS 10	0.30	\$25.00	\$650.00	RM-LS 10	0.30
X	19	BEVERLY CT. LOCATED TO THE RIGHT OF 392 BEVERLY CT.	26	EA	\$5.00	\$130.00	SH-LS 18	0.04	\$15.00	\$390.00	SH-LS 18	0.04	\$25.00	\$650.00	SH-LS 18	0.04
X	20	BRAEWOOD SR 50 EAST TO BRAEWOOD ON HECKLEMAN ST. INCLUDES POND AREA	26	EA	\$21.00	\$546.00	RM-LS 17	0.35	\$15.00	\$390.00	RM-LS 17	0.35	\$45.00	\$1,170.00	RM-LS 17	0.35
X	21	BROOKRIDGE BLVD. LOCATED IN THE OPEN EASEMENT BETWEEN 14849 AND 14869 BROOKRIDGE BLVD, ON THE EDGE OF THE GOLF COURSE	26	EA	\$15.00	\$390.00	BK-LS 05	0.25	\$15.00	\$390.00	BK-LS 05	0.25	\$25.00	\$650.00	BK-LS 05	0.25
X	22	BURGER KING ON THE EAST SIDE OF NATURE COAST DR. BY BURGER KING	26	EA	\$18.00	\$468.00	RM-LS 11	0.30	\$15.00	\$390.00	RM-LS 11	0.30	\$40.00	\$1,040.00	RM-LS 11	0.30
X	23	BROOKSVILLE HOSPITAL 17222 HOSPITAL ST. BROOKSVILLE 34601	26	EA	\$5.00	\$130.00	BK-LS 24	0.06	\$15.00	\$390.00	BK-LS 24	0.06	\$25.00	\$650.00	BK-LS 24	0.06

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	24	CAMPANERO ENTRA LOCATED JUST ACROSS THE BRIDGE ON CAMPANERO ENTRA	26	EA	\$9.00	\$234.00	HB-LS 19	0.15	\$15.00	\$390.00	HB-LS 19	0.15	\$25.00	\$650.00	HB-LS 19	0.15
X	25	CARTEE AVE. SOUTH OF NORTHCLIFF BLVD. ON WEST SIDE OF CARTEE BY PROPANE PLANT	26	EA	\$6.00	\$156.00	SH-LS 59	0.10	\$15.00	\$390.00	SH-LS 59	0.10	\$25.00	\$650.00	SH-LS 59	0.10
X	26	CASINO CT. LOCATED BEHIND 4053 CASINO CT. SPRING HILL 34606	26	EA	\$5.00	\$130.00	BM-LS 04	0.04	\$15.00	\$390.00	BM-LS 04	0.04	\$25.00	\$650.00	BM-LS 04	0.04
X	27	CHALMER ST. WEST OF LANDOVER ON THE SOUTH SIDE OF CHALMER BY RETENTION DITCH	26	EA	\$5.00	\$130.00	SH-LS 62	0.06	\$15.00	\$390.00	SH-LS 62	0.06	\$25.00	\$650.00	SH-LS 62	0.06
X	28	CINEMA (OUTLET MALL) LOCATED BEHIND 3021 COMMERCIAL WAY SPRING HILL 34606	26	EA	\$6.00	\$156.00	SH-LS 16	0.10	\$15.00	\$390.00	SH-LS 16	0.10	\$25.00	\$650.00	SH-LS 16	0.10
X	29	CIRCUIT WAY 2305 CIRCUIT WAY BROOKSVILLE 34604	26	EA	\$5.00	\$130.00	AP-LS 02	0.06	\$15.00	\$390.00	AP-LS 02	0.06	\$25.00	\$650.00	AP-LS 02	0.06

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	30	COFER RD. LOCATED OFF COFER RD. HALF A MILE WEST OF SHOAL LINE BLVD.	26	EA	\$30.00	\$780.00	WW-LS 01A	0.50	\$15.00	\$390.00	WW-LS 01A	0.50	\$50.00	\$1,300.00	WW-LS 01A	0.50
X	31	COFER RD. (REAR) LOCATED ON THE SAME PROPERTY AS COFER RD. LIFT STATION	26	EA	\$150.00	\$3,900.00	WW-LS01	2.5	\$100.00	\$2,600.00	WW-LS01	2.5	\$237.00	\$6,162.00	WW-LS01	2.5
X	32	CORRINE AVE. LOCATED TO THE LEFT OF 12333 CORRINE AVE. SPRING HILL 34609	26	EA	\$5.00	\$130.00	SH-LS 84	0.06	\$15.00	\$390.00	SH-LS 84	0.06	\$25.00	\$650.00	SH-LS 84	0.06
X	33	CORRINE AVE. MAIN LOCATED TO THE LEFT OF 12469 CORRINE AVE. SPRING HILL 34609	26	EA	\$9.00	\$234.00	SH-LS 83	0.15	\$15.00	\$390.00	SH-LS 83	0.15	\$25.00	\$650.00	SH-LS 83	0.15
X	34	CORTEZ OAKS OFF HWY 50 WEST OF OAKHILL HOSPITAL, TURN ON CORTEZ OAKS BLVD THEN 2ND LEFT ON FRONTAGE RD. THEN ABOUT 300' ON NORTH SIDE OF STREET.	26	EA	\$6.00	\$156.00	GL-LS00	0.10	\$15.00	\$390.00	GL-LS00	0.10	\$25.00	\$650.00	GL-LS00	0.10

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	35	CRACKER BARREL LOCATED ON THE CORNER OF BRONSON BLVD. AND CRACKER XING	26	EA	\$5.00	\$130.00	RM-LS 05	0.05	\$15.00	\$390.00	RM-LS 05	0.05	\$25.00	\$650.00	RM-LS 05	0.05
X	36	CRANBROOK CT. LOCATED BETWEEN 6308 AND 6320 CRANBROOK CT. SPRING HILL 34606	26	EA	\$5.00	\$130.00	SH-LS 21	0.08	\$15.00	\$390.00	SH-LS 21	0.08	\$25.00	\$650.00	SH-LS 21	0.08
X	37	CRESENT RD. LOCATED TO THE LEFT OF 4438 CRESENT RD. SPRING HILL 34606	26	EA	\$5.00	\$130.00	SH-LS 50	0.08	\$15.00	\$390.00	SH-LS 50	0.08	\$25.00	\$650.00	SH-LS 50	0.08
X	38	CROWN POINT TAKE ANDERSON SNOW RD. TO CHALLICE DR., STATION IS ON THE LEFT RIGHT AFTER TIERRA DR.	26	EA	\$5.00	\$130.00	AP-LS 29	0.013	\$15.00	\$390.00	AP-LS 29	0.013	\$25.00	\$650.00	AP-LS 29	0.013
X	39	DALAVAN DR. SOUTH OF BROOKRIDGE BLVD. ON DALAVAN DR.	26	EA	\$5.00	\$130.00	BK-LS 03	0.04	\$15.00	\$390.00	BK-LS 03	0.04	\$25.00	\$650.00	BK-LS 03	0.04
X	40	DEERFIELD #1 CANDY DR. OFF OF SPRING HILL DR. IN DEERFIELD SUBDIVISION	26	EA	\$5.00	\$130.00	AP-LS 09	0.05	\$15.00	\$390.00	AP-LS 09	0.05	\$25.00	\$650.00	AP-LS 09	0.05

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	41	DEERFIELD #2 CELEBRATION DR. JUST NORTH OF DREAMS BEGIN LN.	26	EA	\$5.00	\$130.00	AP-LS 28	0.06	\$15.00	\$390.00	AP-LS 28	0.06	\$25.00	\$650.00	AP-LS 28	0.06
X	42	DELLA CT. OFF CARIBBEAN DR. EAST OF US 19 BEHIND PALACE GRAND	26	EA	\$5.00	\$130.00	SH-LS 22	0.03	\$15.00	\$390.00	SH-LS 22	0.03	\$25.00	\$650.00	SH-LS 22	0.03
X	43	DELSILVER DR. ACROSS FROM 14101 DELSILVER DR. BROOKSVILLE 34613	26	EA	\$5.00	\$130.00	BK-LS 13	0.08	\$15.00	\$390.00	BK-LS 13	0.08	\$25.00	\$650.00	BK-LS 13	0.08
X	44	DENNISTON ST. NORTH LOACTED BEHIND 14133 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$5.00	\$130.00	BK-LS 11	0.02	\$15.00	\$390.00	BK-LS 11	0.02	\$25.00	\$650.00	BK-LS 11	0.02
X	45	DENNISTON ST. SOUTH LOCATED BEHIND 14249 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$5.00	\$130.00	BK-LS 14	0.02	\$15.00	\$390.00	BK-LS 14	0.02	\$25.00	\$650.00	BK-LS 14	0.02
X	46	DIABLO DR. LOCATED AT THE CORNER OF BROOKRIDGE BLVD. AND DIABLO DR.	26	EA	\$5.00	\$130.00	BK-LS 07	0.01	\$15.00	\$390.00	BK-LS 07	0.01	\$25.00	\$650.00	BK-LS 07	0.01

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	47	DICKENS AVE. LOCATED BETWEEN 8429 AND 8457 DICKENS AVE, AT THE EDGE OF THE GOLF COURSE	26	EA	\$5.00	\$130.00	BK-LS 04	0.01	\$15.00	\$390.00	BK-LS 04	0.01	\$25.00	\$650.00	BK-LS 04	0.01
X	48	ELGIN BLVD. LOCATED ACROSS FROM 12582 ELGIN BLVD.	26	EA	\$12.00	\$312.00	SH-LS 86	0.20	\$15.00	\$390.00	SH-LS 86	0.20	\$30.00	\$780.00	SH-LS 86	0.20
X	49	EVERGREEN AVE. TAKE WEEPING WILLOW ST. NORTH TO PITCAIRN TURN LEFT, RIGHT ON EVERGREEN AVE. ON THE RIGHT PAST 8450 EVERGREEN AVE.	26	EA	\$15.00	\$390.00	GL-LS 30	0.25	\$15.00	\$390.00	GL-LS 30	0.25	\$40.00	\$1,040.00	GL-LS 30	0.25
X	50	EVERGREEN WOODS LOCATED TO THE LEFT OF 12260 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$15.00	\$390.00	GL-LS 40	0.25	\$15.00	\$390.00	GL-LS 40	0.25	\$40.00	\$1,040.00	GL-LS 40	0.25
X	51	EXPLORER ELEMENTARY LOCATED AT 10252 NORTHCLIFF BLVD. BEHIND EXPLORER ELEMENTARY	26	EA	\$5.00	\$130.00	SH-LS 91	0.08	\$15.00	\$390.00	SH-LS 91	0.08	\$25.00	\$650.00	SH-LS 91	0.08

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	52	EYE CLINIC LOCATED ON SERVICE ROAD BEHIND 14535 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$6.00	\$156.00	BK-LS 06	0.10	\$15.00	\$390.00	BK-LS 06	0.10	\$25.00	\$650.00	BK-LS 06	0.10
X	53	FAIRCHILD RD. LOCATED BEHIND THE WALL ON THE SOUTH SIDE OF FAIRCHILD RD. BEHIND 451 MARINER BLVD.	26	EA	\$5.00	\$130.00	SH-LS 53	0.025	\$15.00	\$390.00	SH-LS 53	0.025	\$25.00	\$650.00	SH-LS 53	0.025
X	54	FLAMMER FORD LOCATED ON FRONT OF 3315 COMMERCIAL WAY SPRING HILL 34606, ON THE SOUTH SIDE OF FLAMMER FORD	26	EA	\$18.00	\$468.00	SH-LS 26	0.30	\$15.00	\$390.00	SH-LS 26	0.30	\$40.00	\$1,040.00	SH-LS 26	0.30
X	55	FLECK REALTY LOCATED BEHIND 5438 SPRING HILL DR. SPRING HILL 34606	26	EA	\$5.00	\$130.00	SH-LS 06	0.01	\$15.00	\$390.00	SH-LS 06	0.01	\$25.00	\$650.00	SH-LS 06	0.01
X	56	FOOD BARN LOCATED TO THE RIGHT OF 15431 FLIGHT PATH DR. BROOKSVILLE 34604	26	EA	\$9.00	\$234.00	AP-LS 06	0.15	\$15.00	\$390.00	AP-LS 06	0.15	\$25.00	\$650.00	AP-LS 06	0.15

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	57	FT. DADE LOCATED TO THE LEFT OF 34916 MAJOR DADE DR. DADE CITY 33523	26	EA	\$12.00	\$312.00	RM-LS 14	0.20	\$15.00	\$390.00	RM-LS 14	0.20	\$30.00	\$780.00	RM-LS 14	0.20
X	58	GARDENIA DR. LOCATED ACROSS FROM 3359 GARDENIA DR. HERNANDO BEACH 34607	26	EA	\$9.00	\$234.00	HB-LS 35	0.15	\$15.00	\$390.00	HB-LS 35	0.15	\$25.00	\$650.00	HB-LS 35	0.15
X	59	GLEN RAVEN LOCATED AT THE CORNER OF BROAD ST. AND GLEN RAVEN BLVD.	26	EA	\$5.00	\$130.00	AP-LS 18	0.025	\$15.00	\$390.00	AP-LS 18	0.025	\$25.00	\$650.00	AP-LS 18	0.025
X	60	GREENTURF RD, LOCATED ACROSS FROM 1082 GREENTURF RD. SPRING HILL 34608	26	EA	\$9.00	\$234.00	SH-LS 64	0.15	\$15.00	\$390.00	SH-LS 64	0.15	\$25.00	\$650.00	SH-LS 64	0.15
X	61	HEATHER BLVD. LOCATED IN THE MEDIAN ACROSS FROM 9026 HEATHER BLVD. WEEKI WACHEE 34613	26	EA	\$5.00	\$130.00	GL-LS 21	0.07	\$15.00	\$390.00	GL-LS 21	0.07	\$25.00	\$650.00	GL-LS 21	0.07

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	62	HENDERSON ST. LOCATED BEHIND 1269 HUBBARD CT. SPRING HILL 34608	26	EA	\$5.00	\$130.00	SH-LS 58	0.01	\$15.00	\$390.00	SH-LS 58	0.01	\$25.00	\$650.00	SH-LS 58	0.01
X	63	HERMOSA MAIN LOCATED AT THE CORNER OF HERMOSA BLVD. AND SHOAL LINE BLVD.	26	EA	\$12.00	\$312.00	HB-LS 33	0.20	\$15.00	\$390.00	HB-LS 33	0.20	\$30.00	\$780.00	HB-LS 33	0.20
X	64	HERNANDO OAKS #2 LOCATED ON THE CORNER OF GEVALIA DR, AND CASKIE PL.	26	EA	\$5.00	\$130.00	AP-LS 22	0.05	\$15.00	\$390.00	AP-LS 22	0.05	\$25.00	\$650.00	AP-LS 22	0.05
X	65	HERNANDO OAKS #3 LOACTED AT 5115 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$5.00	\$130.00	AP-LS 31	0.07	\$15.00	\$390.00	AP-LS 31	0.07	\$25.00	\$650.00	AP-LS 31	0.07
X	66	HERNANDO OAKS #4 LOCATED AT 5520 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$6.00	\$156.00	AP-LS 32	0.10	\$15.00	\$390.00	AP-LS 32	0.10	\$25.00	\$650.00	AP-LS 32	0.10
X	67	HERNANDO BEACH MAIN LOACTED AT THE CORNER OF CALIENTA ST. AND FLAMINGO BLVD.	26	EA	\$18.00	\$468.00	HB-LS 01	0.30	\$15.00	\$390.00	HB-LS 01	0.30	\$40.00	\$1,040.00	HB-LS 01	0.30

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	68	HIGATE RD. LOCATED TO THE LEFT OF 5225 HIGATE RD. SPRING HILL 34609	26	EA	\$5.00	\$130.00	SH-LS 80	0.05	\$15.00	\$390.00	SH-LS 80	0.05	\$25.00	\$650.00	SH-LS 80	0.05
X	69	HIGHPOINT MAIN LOCATED AT THE CORNER OF FAIRLANE AVE. AND FORMOSA ST.	26	EA	\$25.00	\$650.00	GL-LS 32	0.41	\$15.00	\$390.00	GL-LS 32	0.41	\$50.00	\$1,300.00	GL-LS 32	0.41
X	70	HILL-N-DALE LOCATED BETWEEN AND BEHIND 27211 AND 27223 ROPER RD. BROOKSVILLE 34602	26	EA	\$9.00	\$234.00	RM-LS 18	0.15	\$15.00	\$390.00	RM-LS 18	0.15	\$25.00	\$650.00	RM-LS 18	0.15
X	71	HOLIDAY DR. LOCATED BETWEEN 7263 AND 7271 HOLIDAY DR. SPRING HILL 34606	26	EA	\$8.00	\$208.00	SH-LS 31	0.13	\$15.00	\$390.00	SH-LS 31	0.13	\$25.00	\$650.00	SH-LS 31	0.13
X	72	HOLLAND SPRINGS LOCATED ON CORPORATE BLVD. BETWEEN THE SUNCOAST PKWY AND ANDERSON SNOW RD.	26	EA	\$21.00	\$546.00	AP-LS 04	0.35	\$15.00	\$390.00	AP-LS 04	0.35	\$45.00	\$1,170.00	AP-LS 04	0.35
X	73	HUT LOCATED ON 3200 BARCLAY AVE. SPRING HILL 34609	26	EA	\$9.00	\$234.00	AP-LS 07	0.15	\$15.00	\$390.00	AP-LS 07	0.15	\$25.00	\$650.00	AP-LS 07	0.15

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	74	IHOP LOCATED BEHIND 3360 COMMERCIAL WAY (I-HOP RESTAURANT)	26	EA	\$5.00	\$130.00	BM-LS 09	0.02	\$15.00	\$390.00	BM-LS 09	0.02	\$25.00	\$650.00	BM-LS 09	0.02
X	75	JAIL LOCATED ON THE CORNER OF SPRING HILL DR. AND AIR COMMERCE BLVD.	26	EA	\$5.00	\$130.00	AP-LS 12	0.06	\$15.00	\$390.00	AP-LS 12	0.06	\$25.00	\$650.00	AP-LS 12	0.06
X	76	JASON & MILLWOOD LOCATED BETWEEN MILLWOOD RD. AND JASON RD. BEHIND APPARTMENTS	26	EA	\$5.00	\$130.00	SH-LS 66	0.01	\$15.00	\$390.00	SH-LS 66	0.01	\$25.00	\$650.00	SH-LS 66	0.01
X	77	KASS CIRCLE LOCATED TO THE LEFT SIDE OF 1291 KASS CIR. SPRING HILL 34606	26	EA	\$5.00	\$130.00	SH-LS 29	0.04	\$15.00	\$390.00	SH-LS 29	0.04	\$25.00	\$650.00	SH-LS 29	0.04
X	78	KFC (WENDY CT.) LOCATED BETWEEN 1190 AND 1166 WENDY CT.	26	EA	\$5.00	\$130.00	SH-LS 10	0.02	\$15.00	\$390.00	SH-LS 10	0.02	\$25.00	\$650.00	SH-LS 10	0.02
X	79	KIMBALL CT. LOCATED TO THE RIGHT OF 6175 KELVIN ST. SPRING HILL 34606	26	EA	\$8.00	\$208.00	SH-LS 14	0.13	\$15.00	\$390.00	SH-LS 14	0.13	\$25.00	\$650.00	SH-LS 14	0.13

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	80	KIRKLAND AVE. LOCATED TO THE RIGHT OF 4703 KIRKLAND AVE. SPRING HILL 34606	26	EA	\$6.00	\$156.00	SH-LS 48	0.10	\$15.00	\$390.00	SH-LS 48	0.10	\$25.00	\$650.00	SH-LS 48	0.10
X	81	KOHL'S (AERIAL WAY) LOCATED ON THE CORNER OF AERIAL WAY AND AVIATION LOOP DR. ON THE NORTH WEST CORNER	26	EA	\$6.00	\$156.00	AP-LS 34	0.10	\$15.00	\$390.00	AP-LS 34	0.10	\$25.00	\$650.00	AP-LS 34	0.10
X	82	LOCKER DR. LOCATED ON THE LEFT OF 10307 LOCKER DR. BY THE GOLF COURSE	26	EA	\$5.00	\$130.00	SH-LS 63	0.04	\$15.00	\$390.00	SH-LS 63	0.04	\$25.00	\$650.00	SH-LS 63	0.04
X	83	LORI DR. NORTH LOCATED ON LORI DR. BEHIND THE HAMPTON INN ON US 19	26	EA	\$5.00	\$130.00	SH-LS 07	0.02	\$15.00	\$390.00	SH-LS 07	0.02	\$25.00	\$650.00	SH-LS 07	0.02
X	84	LORI DR. SOUTH LOCATED ON THE EST SIDE OF LORI DR. JUST PAST SIR SPEEDY ON US 19	26	EA	\$5.00	\$130.00	SH-LS 08	0.02	\$15.00	\$390.00	SH-LS 08	0.02	\$25.00	\$650.00	SH-LS 08	0.02

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	85	MARINER BLVD. CUMBERLAND FARMS LOCATED ACROSS FROM 5260 MARINER BLVD. SPRING HILL 34609	26	EA	\$12.00	\$312.00	SH-LS 79	0.20	\$15.00	\$390.00	SH-LS 79	0.20	\$30.00	\$780.00	SH-LS 79	0.20
X	86	MEDICAL CENTER CARINOS TAKE CORTEZ BLVD. TO KADRI BLVD. ACROSS FROM HIGH POINT BLVD. STATION WILL BE ON THE LEFT NEAR THE FIRST CURVE	26	EA	\$5.00	\$130.00	GL-LS 39	0.02	\$15.00	\$390.00	GL-LS 39	0.02	\$25.00	\$650.00	GL-LS 39	0.02
X	87	MELROSE ST. LOCATED TO THE RIGHT OF 9492 MELROSE ST. SPRING HILL 34608	26	EA	\$5.00	\$130.00	SH-LS 57	0.02	\$15.00	\$390.00	SH-LS 57	0.02	\$25.00	\$650.00	SH-LS 57	0.02
X	88	MIRACLE DR. LOCATED ON THE RIGHT OF 9470 MIRACLE DR. SPRING HILL 34608	26	EA	\$5.00	\$130.00	SH-LS 52	0.015	\$15.00	\$390.00	SH-LS 52	0.015	\$25.00	\$650.00	SH-LS 52	0.015
X	89	MOOSE LODGE LOCATED BEHIND THE MOOSE LODGE ON MARINER BLVD.	26	EA	\$5.00	\$130.00	SH-LS 78	0.01	\$15.00	\$390.00	SH-LS 78	0.01	\$25.00	\$650.00	SH-LS 78	0.01

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	90	MORELLI AVE. LOACTED AT 8063 MORELLI AVE. BROOKSVILLE 34613	26	EA	\$5.00	\$130.00	BK-LS 10	0.01	\$15.00	\$390.00	BK-LS 10	0.01	\$25.00	\$650.00	BK-LS 10	0.01
X	91	NORTHCLIFFE BLVD. WEST LOCATED ON THE WEST SIDE OF US 19 ON FRONTAGE RD. ACROSS FROM NORTHCLIFFE BLVD.	26	EA	\$5.00	\$130.00	SH-LS 51	0.05	\$15.00	\$390.00	SH-LS 51	0.05	\$25.00	\$650.00	SH-LS 51	0.05
X	92	NORTHCLIFFE BLVD. BLACKBURN LOCATED TO THE RIGHT OF 10590 NORTHCLIFFE BLVD. SPRING HILL 34608	26	EA	\$18.00	\$468.00	SH-LS 70	0.30	\$15.00	\$390.00	SH-LS 70	0.30	\$40.00	\$1,040.00	SH-LS 70	0.30
X	93	NORTHCLIFFE BLVD. EAST LOCATED ON THE SOUTH SIDE OF NORTHCLIFFE BLVD. BY US 19	26	EA	\$5.00	\$130.00	SH-LS 55	0.05	\$15.00	\$390.00	SH-LS 55	0.05	\$25.00	\$650.00	SH-LS 55	0.05
X	94	OVERLAND DR. LOCATED BEHIND 10279 RAYBURN CT. SPRING HILL 34608	26	EA	\$5.00	\$130.00	SH-LS 56	0.01	\$15.00	\$390.00	SH-LS 56	0.01	\$25.00	\$650.00	SH-LS 56	0.01
X	95	PALMGREN LN. LOCATED AT THE CORNER OF PALMGREN LN. AND WOODSTREAM WAY	26	EA	\$5.00	\$130.00	SH-LS 61	0.08	\$15.00	\$390.00	SH-LS 61	0.08	\$25.00	\$650.00	SH-LS 61	0.08

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	96	PAPA JOE'S TAKE SR 50 EAST TO OGBURN, STATION IS BEHIND PAPA JOE'S RESTAURANT	26	EA	\$5.00	\$130.00	RM-LS 20	0.035	\$15.00	\$390.00	RM-LS 20	0.035	\$25.00	\$650.00	RM-LS 20	0.035
X	97	PARK LOCATED ON THE LEFT SIDE OF 31064 WILLOW BANK AVE. BROOKSVILLE 34602	26	EA	\$45.00	\$1,170.00	RM-LS 08	0.75	\$15.00	\$390.00	RM-LS 08	0.75	\$65.00	\$1,690.00	RM-LS 08	0.75
X	98	PINECONE ST. LOCATED ACROSS THE STREET FROM 12395 PINECONE ST. BROOKSVILLE 34613	26	EA	\$9.00	\$234.00	GL-LS 29	0.15	\$15.00	\$390.00	GL-LS 29	0.15	\$25.00	\$650.00	GL-LS 29	0.15
X	99	PO-JIMS LOCATED TO THE LEFT OF 12091 CORTEZ BKLD. BROOKSVILLE 34613	26	EA	\$5.00	\$130.00	GL-LS 38	0.06	\$15.00	\$390.00	GL-LS 38	0.06	\$25.00	\$650.00	GL-LS 38	0.06
X	100	PRISTINE PLACE #2 LOCATED TO THE RIGHT OF 3353 CARMEN AVE. SPRING HILL 34609	26	EA	\$5.00	\$130.00	AP-LS 11	0.04	\$15.00	\$390.00	AP-LS 11	0.04	\$25.00	\$650.00	AP-LS 11	0.04

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	101	QUALITY DR. LOCATED ON QUALITY DR. EAST OF MARINER BLVD. IN FRONT OF SPRING HILL REGIONAL HOSPITAL	26	EA	\$5.00	\$130.00	SH-LS 71	0.07	\$15.00	\$390.00	SH-LS 71	0.07	\$25.00	\$650.00	SH-LS 71	0.07
X	102	RAIL PARK LOCATED ON FLYER WAY SOUTH OF THE SWFWMD OFFICES	26	EA	\$9.00	\$234.00	AP-LS 08	0.15	\$15.00	\$390.00	AP-LS 08	0.15	\$25.00	\$650.00	AP-LS 08	0.15
X	103	REDBAY LOCATED IN THE SHERMAN HILLS SUBDIVISION AT 6852 REDBAY DR.	26	EA	\$11.00	\$286.00	RM-LS00	0.18	\$15.00	\$390.00	RM-LS00	0.18	\$30.00	\$780.00	RM-LS00	0.18
X	104	RED LOBSTER LOCATED ON THE EAST SIDE OF US 19 SOUTH OF RED LOBSTER ON THE SERVICE ROAD	26	EA	\$5.00	\$130.00	SH-LS 09	0.06	\$15.00	\$390.00	SH-LS 09	0.06	\$25.00	\$650.00	SH-LS 09	0.06
X	105	REGENCY OAKS MAIN LOCATED BEHIND 4685 COMMERCIAL WAY ON THE OTHER SIDE OF FRONTAGE RD.	26	EA	\$15.00	\$390.00	SH-LS 42	0.25	\$15.00	\$390.00	SH-LS 42	0.25	\$40.00	\$1,040.00	SH-LS 42	0.25

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	106	RHANDBUOY RD. CLUBHOUSE LOCATED ON RHANBOUT RD. IN BERKELEY MANOR IN FRONT OF THE BERKELEY MANOR CLUB HOUSE	26	EA	\$5.00	\$130.00	BM-LS 06	0.025	\$15.00	\$390.00	BM-LS 06	0.025	\$25.00	\$650.00	BM-LS 06	0.025
X	107	RHANBUOY RD. LOCATED TO THE RIGHT OF 8131 RHANBOUY RD. SPRING HILL 34606	26	EA	\$5.00	\$130.00	BM-LS 02	0.05	\$15.00	\$390.00	BM-LS 02	0.05	\$25.00	\$650.00	BM-LS 02	0.05
X	108	RIALTO AVE. LOCATED BEHIND AND BETWEEN 14251 AND 14257 RIALTO AVE., ON THE EDGE OF THE GOLF COURSE	26	EA	\$5.00	\$130.00	BK-LS 09	0.01	\$15.00	\$390.00	BK-LS 09	0.01	\$25.00	\$650.00	BK-LS 09	0.01
X	109	RIVER RUN BLVD. LOCATED AT 6331 RIVER LODGE LN. WEEKING WACHEE 34607	26	EA	\$5.00	\$130.00	SH-LS 92	0.07	\$15.00	\$390.00	SH-LS 92	0.07	\$25.00	\$650.00	SH-LS 92	0.07
X	110	ROGERS PARK LOCATED IN FRONT OF 7176 SHOAL LINE BLVD. WEEKI WACHEE 34607	26	EA	\$5.00	\$130.00	WW-LS 20	0.01	\$15.00	\$390.00	WW-LS 20	0.01	\$25.00	\$650.00	WW-LS 20	0.01

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	111	ROPER RD. LOCATED BETWEEN 26407 AND 26419 MC ALLISTER ST. BROOKSVILLE 34602	26	EA	\$5.00	\$130.00	RM-LS 19	0.009	\$15.00	\$390.00	RM-LS 19	0.009	\$25.00	\$650.00	RM-LS 19	0.009
X	112	ROYAL HIGHLANDS LOCATED EAST OF HEATHERWALK ON ST. ANDREWS BLVD. JUST PAST THE GUARD SHACK	26	EA	\$5.00	\$130.00	GL-LS 13	0.04	\$15.00	\$390.00	GL-LS 13	0.04	\$25.00	\$650.00	GL-LS 13	0.04
X	113	ROYAL HIGHLANDS MAIN LOCATED AT 7748 ST. ANDREWS BLVD. WEEKI WACHEE 34613	26	EA	\$5.00	\$130.00	GL-LS 17	0.075	\$15.00	\$390.00	GL-LS 17	0.075	\$25.00	\$650.00	GL-LS 17	0.075
X	114	SALEM CT. LOCATED TO THE RIGHT OF 1359 SALEM CT. SPRING HILL 34606	26	EA	\$5.00	\$130.00	SH-LS 27	0.09	\$15.00	\$390.00	SH-LS 27	0.09	\$25.00	\$650.00	SH-LS 27	0.09
X	115	SANDTRAP DR. LOCATED AT THE CORNER OF SANDTRAP DR. AND AUDIEBROOK DR.	26	EA	\$5.00	\$130.00	SH-LS 60	0.02	\$15.00	\$390.00	SH-LS 60	0.02	\$25.00	\$650.00	SH-LS 60	0.02
X	116	SCEPTER ST. LOCATED AT THE CORNER OF SCEPTER AVE. AND DELSIVER DR.	26	EA	\$5.00	\$130.00	BK-LS 16	0.04	\$15.00	\$390.00	BK-LS 16	0.04	\$25.00	\$650.00	BK-LS 16	0.04

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	117	SESAME CT. LOCATED BETWEEN 9333 AND 9343 SESAME CT. SPRING HILL 34608	26	EA	\$5.00	\$130.00	SH-LS 47	0.08	\$15.00	\$390.00	SH-LS 47	0.08	\$25.00	\$650.00	SH-LS 47	0.08
X	118	SEVILLE PARKWAY LOCATED AT 11261 SEVILLE PKWY. WEEKI WACHEE	26	EA	\$10.00	\$260.00	GL-LS 49	0.16	\$15.00	\$390.00	GL-LS 49	0.16	\$25.00	\$650.00	GL-LS 49	0.16
X	119	SHOPPING CENTER LOCATED BEHIND 31095 CORTEZ BLVD. BROOKSVILLE 34602	26	EA	\$27.00	\$702.00	RM-LS 06	0.44	\$15.00	\$390.00	RM-LS 06	0.44	\$50.00	\$1,300.00	RM-LS 06	0.44
X	120	SILVER RIDGE LOCATED ACROSS FROM 15175 EASTWOOD TRL. BROOKSVILLE 34604 ON POWELL RD.	26	EA	\$6.00	\$156.00	AP-LS 16	0.10	\$15.00	\$390.00	AP-LS 16	0.10	\$25.00	\$650.00	AP-LS 16	0.10
X	121	SKYLINE CT. LOCATED ON THE LEFT SIDE OF 6334 SKYLINE CT. SPRING HILL 34606	26	EA	\$5.00	\$130.00	SH-LS 13	0.07	\$15.00	\$390.00	SH-LS 13	0.07	\$25.00	\$650.00	SH-LS 13	0.07

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	122	SPRING HILL DR. AND MARINER LOCATED JUST SOUTH OF SPRING HILL DR. ON THE WEST SIDE OF MARINER BLVD.	26	EA	\$5.00	\$130.00	SH-LS 67	0.013	\$15.00	\$390.00	SH-LS 67	0.013	\$25.00	\$650.00	SH-LS 67	0.013
X	123	SPRING HILL DR. CONDOS LOCATED BETWEEN 7556 AND 7560 SPRING HILL DR. SPRING HILL 34606	26	EA	\$10.00	\$260.00	SH-LS 36	0.17	\$15.00	\$390.00	SH-LS 36	0.17	\$25.00	\$650.00	SH-LS 36	0.17
X	124	SPRING HILL ELEMENTARY LOCATED ON THE WEST SIDE OF MARINER BLVD. IN FORNT OF SPRING HILL ELEMENTARY SCHOOL	26	EA	\$5.00	\$130.00	SH-LS 85	0.06	\$15.00	\$390.00	SH-LS 85	0.06	\$25.00	\$650.00	SH-LS 85	0.06
X	125	SPRINGRIDGE LOCATED AT 8437 INDIAN LAUREL LN. BROOKSVILLE 34613	26	EA	\$9.00	\$234.00	BK-LS 23	0.15	\$15.00	\$390.00	BK-LS 23	0.15	\$25.00	\$650.00	BK-LS 23	0.15
X	126	SPRINGSTEAD HIGH SCHOOL LOCATED ON THE EAST SIDE OF MARINER BLVD. IN FRONT OF SPRINGSTEAD HIGH SCHOOL	26	EA	\$5.00	\$130.00	SH-LS 69	0.015	\$15.00	\$390.00	SH-LS 69	0.015	\$25.00	\$650.00	SH-LS 69	0.015

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	127	SPRINGWOOD RD. #2 LOCATED ON THE LEFT SIDE OF 5292 SPRINGWOOD DR. SPRING HILL 34609	26	EA	\$5.00	\$130.00	SH-LS 82	0.06	\$15.00	\$390.00	SH-LS 82	0.06	\$25.00	\$650.00	SH-LS 82	0.06
X	128	SPRINGWOOD RD. MAIN LOCATED BEHIND 12452 PRESCOTT ST. SPRING HILL 34609	26	EA	\$9.00	\$234.00	SH-LS 81	0.15	\$15.00	\$390.00	SH-LS 81	0.15	\$25.00	\$650.00	SH-LS 81	0.15
X	129	ST. FRANCIS CABRINI LOCATED ON NOREMAC ST. ON CHURCH SIDE OF ROAD	26	EA	\$5.00	\$130.00	SH-LS 77	0.03	\$15.00	\$390.00	SH-LS 77	0.03	\$25.00	\$650.00	SH-LS 77	0.03
X	130	STERLING HILLS #1 LOCATED ON THE CORNER OF STERLING HILL BLVD. AND COVEY RUM PL.	26	EA	\$9.00	\$234.00	AP-LS 23	0.15	\$15.00	\$390.00	AP-LS 23	0.15	\$25.00	\$650.00	AP-LS 23	0.15
X	131	STERLING HILLS #2 LOCATED ON THE NORTH SIDE OF ELGIN BLVD. ON STERLING BLVD.	26	EA	\$12.00	\$312.00	AP-LS 24	0.20	\$15.00	\$390.00	AP-LS 24	0.20	\$30.00	\$780.00	AP-LS 24	0.20

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	132	STERLING HILLS #3 LOCATED AT THE INTERSECTION OF STERLING HILL BLVD. AND WINDANCE AVE.	26	EA	\$5.00	\$130.00	AP-LS 30	0.06	\$15.00	\$390.00	AP-LS 30	0.06	\$25.00	\$650.00	AP-LS 30	0.06
X	133	STERLINGHILLS #4 LOCATED ON STERLINGHILL BLVD. JUST SOUTH OF GOLDEN LIME AVE.	26	EA	\$9.00	\$234.00	AP-LS00	0.15	\$15.00	\$390.00	AP-LS00	0.15	\$25.00	\$650.00	AP-LS00	0.15
X	134	STOCKHOLM ST. LOCATED BEHIND 8202 STOCKHOLM ST., ON THE EDGE OF THE GOLF COURSE	26	EA	\$5.00	\$130.00	GL-LS 33	0.02	\$15.00	\$390.00	GL-LS 33	0.02	\$25.00	\$650.00	GL-LS 33	0.02
X	135	STONEBROOK LOCATED ON THE FRONT RIGHT OF 31283 STONEY BROOK DR, BROOKSVILLE 34602	26	EA	\$8.00	\$208.00	RM-LS 04	0.13	\$15.00	\$390.00	RM-LS 04	0.13	\$25.00	\$650.00	RM-LS 04	0.13
X	136	SUNRISE PLAZA TAKE SR. 50 EAST TO SUNRISE PLAZA. THE LIFT STATION IS BEHIND THE SHOPPING CENTER	26	EA	\$5.00	\$130.00	RM-LS 03	0.02	\$15.00	\$390.00	RM-LS 03	0.02	\$25.00	\$650.00	RM-LS 03	0.02

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	137	SUNSET LANDING LANDOVER BLVD. TO SCOTTVILLE ST. THEN FIRST RIGHT GO TO END OF LOOP	26	EA	\$9.00	\$234.00	SH-LS	0.15	\$15.00	\$390.00	SH-LS	0.15	\$25.00	\$650.00	SH-LS	0.15
X	138	SUZANNE DR. NORTH LOCATED WEST OF US 19 BY NOTRE DAME SCHOOL, ON THE EAST SIDE OF SUZANNE DR.	26	EA	\$5.00	\$130.00	SH-LS 12	0.045	\$15.00	\$390.00	SH-LS 12	0.045	\$25.00	\$650.00	SH-LS 12	0.045
X	139	SUZANNE DR. SOUTH LOCATED AT THE END OF SUZANNE DR. SOUTH	26	EA	\$5.00	\$130.00	SH-LS 20	0.015	\$15.00	\$390.00	SH-LS 20	0.015	\$25.00	\$650.00	SH-LS 20	0.015
X	140	TANNER DR. LOCATED ON THE RIGHT SIDE OF 5249 TANNER RD. SPRING HILL 34609	26	EA	\$5.00	\$130.00	SH-LS 87	0.03	\$15.00	\$390.00	SH-LS 87	0.03	\$25.00	\$650.00	SH-LS 87	0.03
X	141	THRASHER AVE. 16239 COURLAND RD. BROOKSVILLE 34614	26	EA	\$27.00	\$702.00	GL-LS 48	0.44	\$15.00	\$390.00	GL-LS 48	0.44	\$50.00	\$1,300.00	GL-LS 48	0.44
X	142	TOLL PLAZA 14437 COUNTY LINE RD. BROOKSVILLE 34604	26	EA	\$7.00	\$182.00	AP-LS 01	0.12	\$15.00	\$390.00	AP-LS 01	0.12	\$25.00	\$650.00	AP-LS 01	0.12

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	143	TOOKE LAKE LOCATED ON COMMERCIAL WAY NORTH OF GLEN LAKES BLVD. EAST OF US 19	26	EA	\$18.00	\$468.00	GL-LS 01	0.30	\$15.00	\$390.00	GL-LS 01	0.30	\$40.00	\$1,040.00	GL-LS 01	0.30
X	144	TOUCAN TRAIL LOCATED ON THE CORNER OF TOUCAN TRL. AND BARTLETT ST.	26	EA	\$5.00	\$130.00	SH-LS 41	0.025	\$15.00	\$390.00	SH-LS 41	0.025	\$25.00	\$650.00	SH-LS 41	0.025
X	145	TRILBY CROSSING LOCKHART RD. TURN EAST ON OLD TRILBY RD. ALL THE WAY TO END	26	EA	\$12.00	\$312.00	RM-LS00	0.19	\$15.00	\$390.00	RM-LS00	0.19	\$30.00	\$780.00	RM-LS00	0.19
X	146	TRILLIUM #1 LOCATED NORTH OF WAKE ROBIN DR. ON TRILLIUM BLVD.	26	EA	\$5.00	\$130.00	AP-LS 25	0.04	\$15.00	\$390.00	AP-LS 25	0.04	\$25.00	\$650.00	AP-LS 25	0.04
X	147	WAL-MART LOCATED IN THE WAL-MART ON CORTEZ BLVD. PARKING LOT ON THE SOUTHWEST SIDE	26	EA	\$5.00	\$130.00	GL-LS 45	0.085	\$15.00	\$390.00	GL-LS 45	0.085	\$25.00	\$650.00	GL-LS 45	0.085

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					AB5 Enterprises				Amazing National Services Group, LLC				American Grounds Service			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	148	WEEKI WACHEE MAIN LOCATED AT 6201 COMMERCIAL WAY WEEKI WACHEE 34613	26	EA	\$39.00	\$1,014.00	GL-LS 28	0.65	\$15.00	\$390.00	GL-LS 28	0.65	\$25.00	\$650.00	GL-LS 28	0.65
X	149	WHISPERING OAKS #1 LOCATED TO THE LEFT SIDE OF 6074 BEECHWOOD DR. NEXT TO THE GOLF CART PATH	26	EA	\$5.00	\$130.00	RM-LS 15	0.05	\$15.00	\$390.00	RM-LS 15	0.05	\$25.00	\$650.00	RM-LS 15	0.05
X	150	WINDRIDGE WAY LOCATED TO THE RIGHT OF 8339 WINFRIDGE WAY WEEKI WACHEE 34613	26	EA	\$5.00	\$130.00	GL-LS 27	0.03	\$15.00	\$390.00	GL-LS 27	0.03	\$25.00	\$650.00	GL-LS 27	0.03
X	151	WINTER ST. LOCATED AT 15425 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$21.00	\$546.00	BK-LS 22	0.35	\$15.00	\$390.00	BK-LS 22	0.35	\$45.00	\$1,170.00	BK-LS 22	0.35
Total						\$36,920.00				\$61,100.00				\$114,452.00		

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES (Table 2 of 4)

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
PART I - LIFT STATIONS																
X	1	50 & 98 EAST SIDE OF 98 NEAR THE INTERSECTION OF 50 & US 98	26	EA	\$50.00	\$1,300.00	RM-LS 12	0.43	\$29.10	\$756.60	RM-LS 12	0.43	\$24.50	\$637.00	RM-LS 12	0.43
X	2	301 & 50 SR 50 EAST TO 301 BEHIND RIDGE MANOR APARTMENTS	26	EA	\$50.00	\$1,300.00	RM-LS 13	0.67	\$29.10	\$756.60	RM-LS 13	0.67	\$34.30	\$891.80	RM-LS 13	0.67
X	3	ACTION ST. LOCATED TO THE RIGHT OF 14247 ACTION ST. BROOKSVILLE 34613	26	EA	\$30.00	\$780.00	BK-LS 08	0.02	\$15.00	\$390.00	BK-LS 08	0.02	\$14.70	\$382.20	BK-LS 08	0.02
X	4	ALMOND CT. LOCATED TO THE LEFT OF 4328 ALMOND CT SPRING HILL 34608	26	EA	\$30.00	\$780.00	SH-LS 49	0.07	\$29.10	\$756.60	SH-LS 49	0.07	\$14.70	\$382.20	SH-LS 49	0.07
X	5	AMBERJACK DR. LOCATED ON THE CORNER OF AMBERJACK DR. AND SEA BASS DR. IN HERNANDO BEACH SOUTH	26	EA	\$30.00	\$780.00	HB-LS 36	0.075	\$15.00	\$390.00	HB-LS 36	0.075	\$14.70	\$382.20	HB-LS 36	0.075

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	6	ANDERSON SNOW RD. 2225 ANDERSON SNOW RD. SPRING HILL 34609	26	EA	\$25.00	\$650.00	AP-LS 33	0.10	\$19.40	\$504.40	AP-LS 33	0.10	\$14.70	\$382.20	AP-LS 33	0.10
X	7	APPLEGATE EAST OF LORI DR. ON THE SOUTH SIDE OF APPLEGATE (TIRES PLUS)	26	EA	\$25.00	\$650.00	SH-LS 05	0.02	\$19.40	\$504.40	SH-LS 05	0.02	\$14.70	\$382.20	SH-LS 05	0.02
X	8	AUDIBROOK DR. LOCATED ACROSS FROM 11082 AUDIE BROOK DR. SPRING HILL 34608, NEXT TO THE GOLF CART PATH	26	EA	\$25.00	\$650.00	SH-LS 65	0.10	\$19.40	\$504.40	SH-LS 65	0.10	\$14.70	\$382.20	SH-LS 65	0.10
X	9	AUTO-ZONE NORTH SIDE OF SPRING HILL DR. N.E. CORNER BEHIND AUTO-SONE NEAR US 19	26	EA	\$25.00	\$650.00	SH-LS 04	0.08	\$29.10	\$756.60	SH-LS 04	0.08	\$14.70	\$382.20	SH-LS 04	0.08
X	10	AVALON #1 13639 HUNTERS POINT ST. SPRING HILL 34609	26	EA	\$25.00	\$650.00	AP-LS 27	0.04	\$15.00	\$390.00	AP-LS 27	0.04	\$14.70	\$382.20	AP-LS 27	0.04
X	11	AVALON #2 950 OAK CHASE BLVD SPRING HILL 34609	26	EA	\$25.00	\$650.00	AP-LS 26	0.04	\$19.40	\$504.40	AP-LS 26	0.04	\$14.70	\$382.20	AP-LS 26	0.04

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	12	AVALON #3 COUNTY LINE RD. JUST WEST OF OAK CHASE BLVD. NEW ENTRANCE TO AVALON	26	EA	\$25.00	\$650.00	AP-LS00	0.04	\$19.40	\$504.40	AP-LS00	0.04	\$14.70	\$382.20	AP-LS00	0.04
X	13	BARCLAY AVE. LOCATED ON THE CORNER OF BARCLAY AVE. AND ASTAIRE LN.	26	EA	\$25.00	\$650.00	AP-LS 35	0.06	\$19.40	\$504.40	AP-LS 35	0.06	\$14.70	\$382.20	AP-LS 35	0.06
X	14	BASIL ST. ACROSS THE STREET FROM 9246 BASIL ST.	26	EA	\$25.00	\$650.00	BK-LS 17	0.04	\$15.00	\$390.00	BK-LS 17	0.04	\$14.70	\$382.20	BK-LS 17	0.04
X	15	BASS RD. LOCATED ON THE CORNER OF WESTSIDE AVE. AND BASS RD.	26	EA	\$25.00	\$650.00	WW-LS 23	0.03	\$15.00	\$390.00	WW-LS 23	0.03	\$14.70	\$382.20	WW-LS 23	0.03
X	16	BAY DR. EAST LOCATED TO THE LEFT OF 9229 BAY DR. SPRING HILL 34608	26	EA	\$25.00	\$650.00	SH-LS 46	0.05	\$19.40	\$504.40	SH-LS 46	0.05	\$14.70	\$382.20	SH-LS 46	0.05
X	17	BAY DR. WEST LOCATED ON BAY DR. ACROSS FORM PAVIA LN.	26	EA	\$25.00	\$650.00	SH-LS 45	0.05	\$19.40	\$504.40	SH-LS 45	0.05	\$14.70	\$382.20	SH-LS 45	0.05

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	18	BEST WESTERN SR 50 NORTH ON LAROSE ON THE EAST SIDE OF THE HOLIDAY INN	26	EA	\$25.00	\$650.00	RM-LS 10	0.30	\$38.75	\$1,007.50	RM-LS 10	0.30	\$19.60	\$509.60	RM-LS 10	0.30
X	19	BEVERLY CT. LOCATED TO THE RIGHT OF 392 BEVERLY CT.	26	EA	\$25.00	\$650.00	SH-LS 18	0.04	\$19.40	\$504.40	SH-LS 18	0.04	\$14.70	\$382.20	SH-LS 18	0.04
X	20	BRAEWOOD SR 50 EAST TO BRAEWOOD ON HECKLEMAN ST. INCLUDES POND AREA	26	EA	\$25.00	\$650.00	RM-LS 17	0.35	\$29.10	\$756.60	RM-LS 17	0.35	\$19.60	\$509.60	RM-LS 17	0.35
X	21	BROOKRIDGE BLVD. LOCATED IN THE OPEN EASEMENT BETWEEN 14849 AND 14869 BROOKRIDGE BLVD, ON THE EDGE OF THE GOLF COURSE	26	EA	\$25.00	\$650.00	BK-LS 05	0.25	\$29.10	\$756.60	BK-LS 05	0.25	\$14.70	\$382.20	BK-LS 05	0.25
X	22	BURGER KING ON THE EAST SIDE OF NATURE COAST DR. BY BURGER KING	26	EA	\$25.00	\$650.00	RM-LS 11	0.30	\$29.10	\$756.60	RM-LS 11	0.30	\$19.60	\$509.60	RM-LS 11	0.30
X	23	BROOKSVILLE HOSPITAL 17222 HOSPITAL ST. BROOKSVILLE 34601	26	EA	\$25.00	\$650.00	BK-LS 24	0.06	\$15.00	\$390.00	BK-LS 24	0.06	\$14.70	\$382.20	BK-LS 24	0.06

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	24	CAMPANERO ENTRA LOCATED JUST ACROSS THE BRIDGE ON CAMPANERO ENTRA	26	EA	\$25.00	\$650.00	HB-LS 19	0.15	\$15.00	\$390.00	HB-LS 19	0.15	\$14.70	\$382.20	HB-LS 19	0.15
X	25	CARTEE AVE. SOUTH OF NORTHCLIFF BLVD. ON WEST SIDE OF CARTEE BY PROPANE PLANT	26	EA	\$25.00	\$650.00	SH-LS 59	0.10	\$19.40	\$504.40	SH-LS 59	0.10	\$14.70	\$382.20	SH-LS 59	0.10
X	26	CASINO CT. LOCATED BEHIND 4053 CASINO CT. SPRING HILL 34606	26	EA	\$25.00	\$650.00	BM-LS 04	0.04	\$19.40	\$504.40	BM-LS 04	0.04	\$14.70	\$382.20	BM-LS 04	0.04
X	27	CHALMER ST. WEST OF LANDOVER ON THE SOUTH SIDE OF CHALMER BY RETENTION DITCH	26	EA	\$25.00	\$650.00	SH-LS 62	0.06	\$29.10	\$756.60	SH-LS 62	0.06	\$14.70	\$382.20	SH-LS 62	0.06
X	28	CINEMA (OUTLET MALL) LOCATED BEHIND 3021 COMMERCIAL WAY SPRING HILL 34606	26	EA	\$25.00	\$650.00	SH-LS 16	0.10	\$19.40	\$504.40	SH-LS 16	0.10	\$14.70	\$382.20	SH-LS 16	0.10
X	29	CIRCUIT WAY 2305 CIRCUIT WAY BROOKSVILLE 34604	26	EA	\$25.00	\$650.00	AP-LS 02	0.06	\$19.40	\$504.40	AP-LS 02	0.06	\$14.70	\$382.20	AP-LS 02	0.06

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	30	COFER RD. LOCATED OFF COFER RD. HALF A MILE WEST OF SHOAL LINE BLVD.	26	EA	\$25.00	\$650.00	WW-LS 01A	0.50	\$145.40	\$3,780.40	WW-LS 01A	0.50	\$29.40	\$764.40	WW-LS 01A	0.50
X	31	COFER RD. (REAR) LOCATED ON THE SAME PROPERTY AS COFER RD. LIFT STATION	26	EA	\$115.00	\$2,990.00	WW-LS01	2.5	\$15.00	\$390.00	WW-LS01	2.5	\$117.60	\$3,057.60	WW-LS01	2.5
X	32	CORRINE AVE. LOCATED TO THE LEFT OF 12333 CORRINE AVE. SPRING HILL 34609	26	EA	\$25.00	\$650.00	SH-LS 84	0.06	\$19.40	\$504.40	SH-LS 84	0.06	\$14.70	\$382.20	SH-LS 84	0.06
X	33	CORRINE AVE. MAIN LOCATED TO THE LEFT OF 12469 CORRINE AVE. SPRING HILL 34609	26	EA	\$25.00	\$650.00	SH-LS 83	0.15	\$19.40	\$504.40	SH-LS 83	0.15	\$14.70	\$382.20	SH-LS 83	0.15
X	34	CORTEZ OAKS OFF HWY 50 WEST OF OAKHILL HOSPITAL, TURN ON CORTEZ OAKS BLVD THEN 2ND LEFT ON FRONTAGE RD. THEN ABOUT 300' ON NORTH SIDE OF STREET.	26	EA	\$25.00	\$650.00	GL-LS00	0.10	\$29.10	\$756.60	GL-LS00	0.10	\$14.70	\$382.20	GL-LS00	0.10

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	35	CRACKER BARREL LOCATED ON THE CORNER OF BRONSON BLVD. AND CRACKER XING	26	EA	\$25.00	\$650.00	RM-LS 05	0.05	\$19.40	\$504.40	RM-LS 05	0.05	\$14.70	\$382.20	RM-LS 05	0.05
X	36	CRANBROOK CT. LOCATED BETWEEN 6308 AND 6320 CRANBROOK CT. SPRING HILL 34606	26	EA	\$25.00	\$650.00	SH-LS 21	0.08	\$19.40	\$504.40	SH-LS 21	0.08	\$14.70	\$382.20	SH-LS 21	0.08
X	37	CRESENT RD. LOCATED TO THE LEFT OF 4438 CRESENT RD. SPRING HILL 34606	26	EA	\$30.00	\$780.00	SH-LS 50	0.08	\$29.10	\$756.60	SH-LS 50	0.08	\$14.70	\$382.20	SH-LS 50	0.08
X	38	CROWN POINT TAKE ANDERSON SNOW RD. TO CHALLICE DR., STATION IS ON THE LEFT RIGHT AFTER TIERRA DR.	26	EA	\$30.00	\$780.00	AP-LS 29	0.013	\$15.00	\$390.00	AP-LS 29	0.013	\$14.70	\$382.20	AP-LS 29	0.013
X	39	DALAVAN DR. SOUTH OF BROOKRIDGE BLVD. ON DALAVAN DR.	26	EA	\$30.00	\$780.00	BK-LS 03	0.04	\$15.00	\$390.00	BK-LS 03	0.04	\$14.70	\$382.20	BK-LS 03	0.04
X	40	DEERFIELD #1 CANDY DR. OFF OF SPRING HILL DR. IN DEERFIELD SUBDIVISION	26	EA	\$25.00	\$650.00	AP-LS 09	0.05	\$19.40	\$504.40	AP-LS 09	0.05	\$14.70	\$382.20	AP-LS 09	0.05

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	41	DEERFIELD #2 CELEBRATION DR. JUST NORTH OF DREAMS BEGIN LN.	26	EA	\$30.00	\$780.00	AP-LS 28	0.06	\$15.00	\$390.00	AP-LS 28	0.06	\$14.70	\$382.20	AP-LS 28	0.06
X	42	DELLA CT. OFF CARIBBEAN DR. EAST OF US 19 BEHIND PALACE GRAND	26	EA	\$30.00	\$780.00	SH-LS 22	0.03	\$15.00	\$390.00	SH-LS 22	0.03	\$14.70	\$382.20	SH-LS 22	0.03
X	43	DELSILVER DR. ACROSS FROM 14101 DELSILVER DR. BROOKSVILLE 34613	26	EA	\$30.00	\$780.00	BK-LS 13	0.08	\$15.00	\$390.00	BK-LS 13	0.08	\$14.70	\$382.20	BK-LS 13	0.08
X	44	DENNISTON ST. NORTH LOACTED BEHIND 14133 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$30.00	\$780.00	BK-LS 11	0.02	\$15.00	\$390.00	BK-LS 11	0.02	\$14.70	\$382.20	BK-LS 11	0.02
X	45	DENNISTON ST. SOUTH LOCATED BEHIND 14249 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$30.00	\$780.00	BK-LS 14	0.02	\$15.00	\$390.00	BK-LS 14	0.02	\$14.70	\$382.20	BK-LS 14	0.02
X	46	DIABLO DR. LOCATED AT THE CORNER OF BROOKRIDGE BLVD. AND DIABLO DR.	26	EA	\$22.00	\$572.00	BK-LS 07	0.01	\$15.00	\$390.00	BK-LS 07	0.01	\$14.70	\$382.20	BK-LS 07	0.01

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	47	DICKENS AVE. LOCATED BETWEEN 8429 AND 8457 DICKENS AVE, AT THE EDGE OF THE GOLF COURSE	26	EA	\$22.00	\$572.00	BK-LS 04	0.01	\$15.00	\$390.00	BK-LS 04	0.01	\$14.70	\$382.20	BK-LS 04	0.01
X	48	ELGIN BLVD. LOCATED ACROSS FROM 12582 ELGIN BLVD.	26	EA	\$22.00	\$572.00	SH-LS 86	0.20	\$29.10	\$756.60	SH-LS 86	0.20	\$14.70	\$382.20	SH-LS 86	0.20
X	49	EVERGREEN AVE. TAKE WEEPING WILLOW ST. NORTH TO PITCAIRN TURN LEFT, RIGHT ON EVERGREEN AVE. ON THE RIGHT PAST 8450 EVERGREEN AVE.	26	EA	\$22.00	\$572.00	GL-LS 30	0.25	\$29.10	\$756.60	GL-LS 30	0.25	\$14.70	\$382.20	GL-LS 30	0.25
X	50	EVERGREEN WOODS LOCATED TO THE LEFT OF 12260 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$25.00	\$650.00	GL-LS 40	0.25	\$58.15	\$1,511.90	GL-LS 40	0.25	\$14.70	\$382.20	GL-LS 40	0.25
X	51	EXPLORER ELEMENTARY LOCATED AT 10252 NORTHCLIFF BLVD. BEHIND EXPLORER ELEMENTARY	26	EA	\$30.00	\$780.00	SH-LS 91	0.08	\$29.10	\$756.60	SH-LS 91	0.08	\$14.70	\$382.20	SH-LS 91	0.08

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	52	EYE CLINIC LOCATED ON SERVICE ROAD BEHIND 14535 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$40.00	\$1,040.00	BK-LS 06	0.10	\$15.00	\$390.00	BK-LS 06	0.10	\$14.70	\$382.20	BK-LS 06	0.10
X	53	FAIRCHILD RD. LOCATED BEHIND THE WALL ON THE SOUTH SIDE OF FAIRCHILD RD. BEHIND 451 MARINER BLVD.	26	EA	\$25.00	\$650.00	SH-LS 53	0.025	\$15.00	\$390.00	SH-LS 53	0.025	\$14.70	\$382.20	SH-LS 53	0.025
X	54	FLAMMER FORD LOCATED ON FRONT OF 3315 COMMERCIAL WAY SPRING HILL 34606, ON THE SOUTH SIDE OF FLAMMER FORD	26	EA	\$40.00	\$1,040.00	SH-LS 26	0.30	\$15.00	\$390.00	SH-LS 26	0.30	\$19.60	\$509.60	SH-LS 26	0.30
X	55	FLECK REALTY LOCATED BEHIND 5438 SPRING HILL DR. SPRING HILL 34606	26	EA	\$25.00	\$650.00	SH-LS 06	0.01	\$15.00	\$390.00	SH-LS 06	0.01	\$14.70	\$382.20	SH-LS 06	0.01
X	56	FOOD BARN LOCATED TO THE RIGHT OF 15431 FLIGHT PATH DR. BROOKSVILLE 34604	26	EA	\$40.00	\$1,040.00	AP-LS 06	0.15	\$29.10	\$756.60	AP-LS 06	0.15	\$14.70	\$382.20	AP-LS 06	0.15

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	57	FT. DADE LOCATED TO THE LEFT OF 34916 MAJOR DADE DR. DADE CITY 33523	26	EA	\$25.00	\$650.00	RM-LS 14	0.20	\$38.75	\$1,007.50	RM-LS 14	0.20	\$14.70	\$382.20	RM-LS 14	0.20
X	58	GARDENIA DR. LOCATED ACROSS FROM 3359 GARDENIA DR. HERNANDO BEACH 34607	26	EA	\$25.00	\$650.00	HB-LS 35	0.15	\$29.10	\$756.60	HB-LS 35	0.15	\$14.70	\$382.20	HB-LS 35	0.15
X	59	GLEN RAVEN LOCATED AT THE CORNER OF BROAD ST. AND GLEN RAVEN BLVD.	26	EA	\$25.00	\$650.00	AP-LS 18	0.025	\$19.40	\$504.40	AP-LS 18	0.025	\$14.70	\$382.20	AP-LS 18	0.025
X	60	GREENTURF RD, LOCATED ACROSS FROM 1082 GREENTURF RD. SPRING HILL 34608	26	EA	\$25.00	\$650.00	SH-LS 64	0.15	\$15.00	\$390.00	SH-LS 64	0.15	\$14.70	\$382.20	SH-LS 64	0.15
X	61	HEATHER BLVD. LOCATED IN THE MEDIAN ACROSS FROM 9026 HEATHER BLVD. WEEKI WACHEE 34613	26	EA	\$25.00	\$650.00	GL-LS 21	0.07	\$19.40	\$504.40	GL-LS 21	0.07	\$14.70	\$382.20	GL-LS 21	0.07

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	62	HENDERSON ST. LOCATED BEHIND 1269 HUBBARD CT. SPRING HILL 34608	26	EA	\$25.00	\$650.00	SH-LS 58	0.01	\$15.00	\$390.00	SH-LS 58	0.01	\$14.70	\$382.20	SH-LS 58	0.01
X	63	HERMOSA MAIN LOCATED AT THE CORNER OF HERMOSA BLVD. AND SHOAL LINE BLVD.	26	EA	\$25.00	\$650.00	HB-LS 33	0.20	\$29.10	\$756.60	HB-LS 33	0.20	\$14.70	\$382.20	HB-LS 33	0.20
X	64	HERNANDO OAKS #2 LOCATED ON THE CORNER OF GEVALIA DR, AND CASKIE PL.	26	EA	\$25.00	\$650.00	AP-LS 22	0.05	\$15.00	\$390.00	AP-LS 22	0.05	\$14.70	\$382.20	AP-LS 22	0.05
X	65	HERNANDO OAKS #3 LOACTED AT 5115 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$25.00	\$650.00	AP-LS 31	0.07	\$19.40	\$504.40	AP-LS 31	0.07	\$14.70	\$382.20	AP-LS 31	0.07
X	66	HERNANDO OAKS #4 LOCATED AT 5520 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$25.00	\$650.00	AP-LS 32	0.10	\$19.40	\$504.40	AP-LS 32	0.10	\$14.70	\$382.20	AP-LS 32	0.10
X	67	HERNANDO BEACH MAIN LOACTED AT THE CORNER OF CALIENTA ST. AND FLAMINGO BLVD.	26	EA	\$40.00	\$1,040.00	HB-LS 01	0.30	\$29.10	\$756.60	HB-LS 01	0.30	\$19.60	\$509.60	HB-LS 01	0.30

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	68	HIGATE RD. LOCATED TO THE LEFT OF 5225 HIGATE RD. SPRING HILL 34609	26	EA	\$25.00	\$650.00	SH-LS 80	0.05	\$19.40	\$504.40	SH-LS 80	0.05	\$14.70	\$382.20	SH-LS 80	0.05
X	69	HIGHPOINT MAIN LOCATED AT THE CORNER OF FAIRLANE AVE. AND FORMOSA ST.	26	EA	\$60.00	\$1,560.00	GL-LS 32	0.41	\$29.10	\$756.60	GL-LS 32	0.41	\$24.50	\$637.00	GL-LS 32	0.41
X	70	HILL-N-DALE LOCATED BETWEEN AND BEHIND 27211 AND 27223 ROPER RD. BROOKSVILLE 34602	26	EA	\$25.00	\$650.00	RM-LS 18	0.15	\$58.15	\$1,511.90	RM-LS 18	0.15	\$14.70	\$382.20	RM-LS 18	0.15
X	71	HOLIDAY DR. LOCATED BETWEEN 7263 AND 7271 HOLIDAY DR. SPRING HILL 34606	26	EA	\$25.00	\$650.00	SH-LS 31	0.13	\$19.40	\$504.40	SH-LS 31	0.13	\$14.70	\$382.20	SH-LS 31	0.13
X	72	HOLLAND SPRINGS LOCATED ON CORPORATE BLVD. BETWEEN THE SUNCOAST PKWY AND ANDERSON SNOW RD.	26	EA	\$25.00	\$650.00	AP-LS 04	0.35	\$29.10	\$756.60	AP-LS 04	0.35	\$19.60	\$509.60	AP-LS 04	0.35
X	73	HUT LOCATED ON 3200 BARCLAY AVE. SPRING HILL 34609	26	EA	\$25.00	\$650.00	AP-LS 07	0.15	\$29.10	\$756.60	AP-LS 07	0.15	\$14.70	\$382.20	AP-LS 07	0.15

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	74	IHOP LOCATED BEHIND 3360 COMMERCIAL WAY (I-HOP RESTAURANT)	26	EA	\$25.00	\$650.00	BM-LS 09	0.02	\$15.00	\$390.00	BM-LS 09	0.02	\$14.70	\$382.20	BM-LS 09	0.02
X	75	JAIL LOCATED ON THE CORNER OF SPRING HILL DR. AND AIR COMMERCE BLVD.	26	EA	\$30.00	\$780.00	AP-LS 12	0.06	\$19.40	\$504.40	AP-LS 12	0.06	\$14.70	\$382.20	AP-LS 12	0.06
X	76	JASON & MILLWOOD LOCATED BETWEEN MILLWOOD RD. AND JASON RD. BEHIND APPARTMENTS	26	EA	\$25.00	\$650.00	SH-LS 66	0.01	\$19.40	\$504.40	SH-LS 66	0.01	\$14.70	\$382.20	SH-LS 66	0.01
X	77	KASS CIRCLE LOCATED TO THE LEFT SIDE OF 1291 KASS CIR. SPRING HILL 34606	26	EA	\$25.00	\$650.00	SH-LS 29	0.04	\$15.00	\$390.00	SH-LS 29	0.04	\$14.70	\$382.20	SH-LS 29	0.04
X	78	KFC (WENDY CT.) LOCATED BETWEEN 1190 AND 1166 WENDY CT.	26	EA	\$25.00	\$650.00	SH-LS 10	0.02	\$19.40	\$504.40	SH-LS 10	0.02	\$14.70	\$382.20	SH-LS 10	0.02
X	79	KIMBALL CT. LOCATED TO THE RIGHT OF 6175 KELVIN ST. SPRING HILL 34606	26	EA	\$25.00	\$650.00	SH-LS 14	0.13	\$19.40	\$504.40	SH-LS 14	0.13	\$14.70	\$382.20	SH-LS 14	0.13

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	80	KIRKLAND AVE. LOCATED TO THE RIGHT OF 4703 KIRKLAND AVE. SPRING HILL 34606	26	EA	\$40.00	\$1,040.00	SH-LS 48	0.10	\$29.10	\$756.60	SH-LS 48	0.10	\$14.70	\$382.20	SH-LS 48	0.10
X	81	KOHL'S (AERIAL WAY) LOCATED ON THE CORNER OF AERIAL WAY AND AVIATION LOOP DR. ON THE NORTH WEST CORNER	26	EA	\$40.00	\$1,040.00	AP-LS 34	0.10	\$29.10	\$756.60	AP-LS 34	0.10	\$14.70	\$382.20	AP-LS 34	0.10
X	82	LOCKER DR. LOCATED ON THE LEFT OF 10307 LOCKER DR. BY THE GOLF COURSE	26	EA	\$25.00	\$650.00	SH-LS 63	0.04	\$15.00	\$390.00	SH-LS 63	0.04	\$14.70	\$382.20	SH-LS 63	0.04
X	83	LORI DR. NORTH LOCATED ON LORI DR. BEHIND THE HAMPTON INN ON US 19	26	EA	\$25.00	\$650.00	SH-LS 07	0.02	\$15.00	\$390.00	SH-LS 07	0.02	\$14.70	\$382.20	SH-LS 07	0.02
X	84	LORI DR. SOUTH LOCATED ON THE EST SIDE OF LORI DR. JUST PAST SIR SPEEDY ON US 19	26	EA	\$25.00	\$650.00	SH-LS 08	0.02	\$19.40	\$504.40	SH-LS 08	0.02	\$14.70	\$382.20	SH-LS 08	0.02

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	85	MARINER BLVD. CUMBERLAND FARMS LOCATED ACROSS FROM 5260 MARINER BLVD. SPRING HILL 34609	26	EA	\$25.00	\$650.00	SH-LS 79	0.20	\$29.10	\$756.60	SH-LS 79	0.20	\$14.70	\$382.20	SH-LS 79	0.20
X	86	MEDICAL CENTER CARINOS TAKE CORTEZ BLVD. TO KADRI BLVD. ACROSS FROM HIGH POINT BLVD. STATION WILL BE ON THE LEFT NEAR THE FIRST CURVE	26	EA	\$25.00	\$650.00	GL-LS 39	0.02	\$19.40	\$504.40	GL-LS 39	0.02	\$14.70	\$382.20	GL-LS 39	0.02
X	87	MELROSE ST. LOCATED TO THE RIGHT OF 9492 MELROSE ST. SPRING HILL 34608	26	EA	\$25.00	\$650.00	SH-LS 57	0.02	\$29.10	\$756.60	SH-LS 57	0.02	\$14.70	\$382.20	SH-LS 57	0.02
X	88	MIRACLE DR. LOCATED ON THE RIGHT OF 9470 MIRACLE DR. SPRING HILL 34608	26	EA	\$25.00	\$650.00	SH-LS 52	0.015	\$29.10	\$756.60	SH-LS 52	0.015	\$14.70	\$382.20	SH-LS 52	0.015
X	89	MOOSE LODGE LOCATED BEHIND THE MOOSE LODGE ON MARINER BLVD.	26	EA	\$25.00	\$650.00	SH-LS 78	0.01	\$19.40	\$504.40	SH-LS 78	0.01	\$14.70	\$382.20	SH-LS 78	0.01

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	90	MORELLI AVE. LOACTED AT 8063 MORELLI AVE. BROOKSVILLE 34613	26	EA	\$25.00	\$650.00	BK-LS 10	0.01	\$15.00	\$390.00	BK-LS 10	0.01	\$14.70	\$382.20	BK-LS 10	0.01
X	91	NORTHCLIFFE BLVD. WEST LOCATED ON THE WEST SIDE OF US 19 ON FRONTAGE RD. ACROSS FROM NORTHCLIFFE BLVD.	26	EA	\$25.00	\$650.00	SH-LS 51	0.05	\$29.10	\$756.60	SH-LS 51	0.05	\$14.70	\$382.20	SH-LS 51	0.05
X	92	NORTHCLIFFE BLVD. BLACKBURN LOCATED TO THE RIGHT OF 10590 NORTHCLIFFE BLVD. SPRING HILL 34608	26	EA	\$25.00	\$650.00	SH-LS 70	0.30	\$29.10	\$756.60	SH-LS 70	0.30	\$19.60	\$509.60	SH-LS 70	0.30
X	93	NORTHCLIFFE BLVD. EAST LOCATED ON THE SOUTH SIDE OF NORTHCLIFFE BLVD. BY US 19	26	EA	\$25.00	\$650.00	SH-LS 55	0.05	\$19.40	\$504.40	SH-LS 55	0.05	\$14.70	\$382.20	SH-LS 55	0.05
X	94	OVERLAND DR. LOCATED BEHIND 10279 RAYBURN CT. SPRING HILL 34608	26	EA	\$25.00	\$650.00	SH-LS 56	0.01	\$15.00	\$390.00	SH-LS 56	0.01	\$14.70	\$382.20	SH-LS 56	0.01
X	95	PALMGREN LN. LOCATED AT THE CORNER OF PALMGREN LN. AND WOODSTREAM WAY	26	EA	\$25.00	\$650.00	SH-LS 61	0.08	\$19.40	\$504.40	SH-LS 61	0.08	\$14.70	\$382.20	SH-LS 61	0.08

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	96	PAPA JOE'S TAKE SR 50 EAST TO OGBURN, STATION IS BEHIND PAPA JOE'S RESTAURANT	26	EA	\$25.00	\$650.00	RM-LS 20	0.035	\$19.40	\$504.40	RM-LS 20	0.035	\$14.70	\$382.20	RM-LS 20	0.035
X	97	PARK LOCATED ON THE LEFT SIDE OF 31064 WILLOW BANK AVE. BROOKSVILLE 34602	26	EA	\$22.00	\$572.00	RM-LS 08	0.75	\$58.15	\$1,511.90	RM-LS 08	0.75	\$39.20	\$1,019.20	RM-LS 08	0.75
X	98	PINECONE ST. LOCATED ACROSS THE STREET FROM 12395 PINECONE ST. BROOKSVILLE 34613	26	EA	\$22.00	\$572.00	GL-LS 29	0.15	\$19.40	\$504.40	GL-LS 29	0.15	\$14.70	\$382.20	GL-LS 29	0.15
X	99	PO-JIMS LOCATED TO THE LEFT OF 12091 CORTEZ BKLD. BROOKSVILLE 34613	26	EA	\$22.00	\$572.00	GL-LS 38	0.06	\$19.40	\$504.40	GL-LS 38	0.06	\$14.70	\$382.20	GL-LS 38	0.06
X	100	PRISTINE PLACE #2 LOCATED TO THE RIGHT OF 3353 CARMEN AVE. SPRING HILL 34609	26	EA	\$22.00	\$572.00	AP-LS 11	0.04	\$15.00	\$390.00	AP-LS 11	0.04	\$14.70	\$382.20	AP-LS 11	0.04

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	101	QUALITY DR. LOCATED ON QUALITY DR. EAST OF MARINER BLVD. IN FRONT OF SPRING HILL REGIONAL HOSPITAL	26	EA	\$22.00	\$572.00	SH-LS 71	0.07	\$19.40	\$504.40	SH-LS 71	0.07	\$14.70	\$382.20	SH-LS 71	0.07
X	102	RAIL PARK LOCATED ON FLYER WAY SOUTH OF THE SWFWMD OFFICES	26	EA	\$25.00	\$650.00	AP-LS 08	0.15	\$19.40	\$504.40	AP-LS 08	0.15	\$14.70	\$382.20	AP-LS 08	0.15
X	103	REDBAY LOCATED IN THE SHERMAN HILLS SUBDIVISION AT 6852 REDBAY DR.	26	EA	\$22.00	\$572.00	RM-LS00	0.18	\$19.40	\$504.40	RM-LS00	0.18	\$14.70	\$382.20	RM-LS00	0.18
X	104	RED LOBSTER LOCATED ON THE EAST SIDE OF US 19 SOUTH OF RED LOBSTER ON THE SERVICE ROAD	26	EA	\$22.00	\$572.00	SH-LS 09	0.06	\$19.40	\$504.40	SH-LS 09	0.06	\$14.70	\$382.20	SH-LS 09	0.06
X	105	REGENCY OAKS MAIN LOCATED BEHIND 4685 COMMERCIAL WAY ON THE OTHER SIDE OF FRONTAGE RD.	26	EA	\$22.00	\$572.00	SH-LS 42	0.25	\$58.15	\$1,511.90	SH-LS 42	0.25	\$14.70	\$382.20	SH-LS 42	0.25

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	106	RHANDBUOY RD. CLUBHOUSE LOCATED ON RHANBOUT RD. IN BERKELEY MANOR IN FRONT OF THE BERKELEY MANOR CLUB HOUSE	26	EA	\$22.00	\$572.00	BM-LS 06	0.025	\$19.40	\$504.40	BM-LS 06	0.025	\$14.70	\$382.20	BM-LS 06	0.025
X	107	RHANBUOY RD. LOCATED TO THE RIGHT OF 8131 RHANBOUY RD. SPRING HILL 34606	26	EA	\$25.00	\$650.00	BM-LS 02	0.05	\$29.10	\$756.60	BM-LS 02	0.05	\$14.70	\$382.20	BM-LS 02	0.05
X	108	RIALTO AVE. LOCATED BEHIND AND BETWEEN 14251 AND 14257 RIALTO AVE., ON THE EDGE OF THE GOLF COURSE	26	EA	\$22.00	\$572.00	BK-LS 09	0.01	\$15.00	\$390.00	BK-LS 09	0.01	\$14.70	\$382.20	BK-LS 09	0.01
X	109	RIVER RUN BLVD. LOCATED AT 6331 RIVER LODGE LN. WEEKING WACHEE 34607	26	EA	\$22.00	\$572.00	SH-LS 92	0.07	\$29.10	\$756.60	SH-LS 92	0.07	\$14.70	\$382.20	SH-LS 92	0.07
X	110	ROGERS PARK LOCATED IN FRONT OF 7176 SHOAL LINE BLVD. WEEKI WACHEE 34607	26	EA	\$22.00	\$572.00	WW-LS 20	0.01	\$15.00	\$390.00	WW-LS 20	0.01	\$14.70	\$382.20	WW-LS 20	0.01

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	111	ROPER RD. LOCATED BETWEEN 26407 AND 26419 MC ALLISTER ST. BROOKSVILLE 34602	26	EA	\$22.00	\$572.00	RM-LS 19	0.009	\$19.40	\$504.40	RM-LS 19	0.009	\$14.70	\$382.20	RM-LS 19	0.009
X	112	ROYAL HIGHLANDS LOCATED EAST OF HEATHERWALK ON ST. ANDREWS BLVD. JUST PAST THE GUARD SHACK	26	EA	\$25.00	\$650.00	GL-LS 13	0.04	\$19.40	\$504.40	GL-LS 13	0.04	\$14.70	\$382.20	GL-LS 13	0.04
X	113	ROYAL HIGHLANDS MAIN LOCATED AT 7748 ST. ANDREWS BLVD. WEEKI WACHEE 34613	26	EA	\$22.00	\$572.00	GL-LS 17	0.075	\$29.10	\$756.60	GL-LS 17	0.075	\$14.70	\$382.20	GL-LS 17	0.075
X	114	SALEM CT. LOCATED TO THE RIGHT OF 1359 SALEM CT. SPRING HILL 34606	26	EA	\$22.00	\$572.00	SH-LS 27	0.09	\$19.40	\$504.40	SH-LS 27	0.09	\$14.70	\$382.20	SH-LS 27	0.09
X	115	SANDTRAP DR. LOCATED AT THE CORNER OF SANDTRAP DR. AND AUDIEBROOK DR.	26	EA	\$22.00	\$572.00	SH-LS 60	0.02	\$19.40	\$504.40	SH-LS 60	0.02	\$14.70	\$382.20	SH-LS 60	0.02
X	116	SCEPTER ST. LOCATED AT THE CORNER OF SCEPTER AVE. AND DELSIVER DR.	26	EA	\$22.00	\$572.00	BK-LS 16	0.04	\$15.00	\$390.00	BK-LS 16	0.04	\$14.70	\$382.20	BK-LS 16	0.04

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	117	SESAME CT. LOCATED BETWEEN 9333 AND 9343 SESAME CT. SPRING HILL 34608	26	EA	\$22.00	\$572.00	SH-LS 47	0.08	\$15.00	\$390.00	SH-LS 47	0.08	\$14.70	\$382.20	SH-LS 47	0.08
X	118	SEVILLE PARKWAY LOCATED AT 11261 SEVILLE PKWY. WEEKI WACHEE	26	EA	\$25.00	\$650.00	GL-LS 49	0.16	\$29.10	\$756.60	GL-LS 49	0.16	\$14.70	\$382.20	GL-LS 49	0.16
X	119	SHOPPING CENTER LOCATED BEHIND 31095 CORTEZ BLVD. BROOKSVILLE 34602	26	EA	\$22.00	\$572.00	RM-LS 06	0.44	\$48.50	\$1,261.00	RM-LS 06	0.44	\$24.50	\$637.00	RM-LS 06	0.44
X	120	SILVER RIDGE LOCATED ACROSS FROM 15175 EASTWOOD TRL. BROOKSVILLE 34604 ON POWELL RD.	26	EA	\$22.00	\$572.00	AP-LS 16	0.10	\$19.40	\$504.40	AP-LS 16	0.10	\$14.70	\$382.20	AP-LS 16	0.10
X	121	SKYLINE CT. LOCATED ON THE LEFT SIDE OF 6334 SKYLINE CT. SPRING HILL 34606	26	EA	\$22.00	\$572.00	SH-LS 13	0.07	\$19.40	\$504.40	SH-LS 13	0.07	\$14.70	\$382.20	SH-LS 13	0.07

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	122	SPRING HILL DR. AND MARINER LOCATED JUST SOUTH OF SPRING HILL DR. ON THE WEST SIDE OF MARINER BLVD.	26	EA	\$22.00	\$572.00	SH-LS 67	0.013	\$15.00	\$390.00	SH-LS 67	0.013	\$14.70	\$382.20	SH-LS 67	0.013
X	123	SPRING HILL DR. CONDOS LOCATED BETWEEN 7556 AND 7560 SPRING HILL DR. SPRING HILL 34606	26	EA	\$25.00	\$650.00	SH-LS 36	0.17	\$29.10	\$756.60	SH-LS 36	0.17	\$14.70	\$382.20	SH-LS 36	0.17
X	124	SPRING HILL ELEMENTARY LOCATED ON THE WEST SIDE OF MARINER BLVD. IN FORNT OF SPRING HILL ELEMENTARY SCHOOL	26	EA	\$22.00	\$572.00	SH-LS 85	0.06	\$19.40	\$504.40	SH-LS 85	0.06	\$14.70	\$382.20	SH-LS 85	0.06
X	125	SPRINGRIDGE LOCATED AT 8437 INDIAN LAUREL LN. BROOKSVILLE 34613	26	EA	\$22.00	\$572.00	BK-LS 23	0.15	\$29.10	\$756.60	BK-LS 23	0.15	\$14.70	\$382.20	BK-LS 23	0.15
X	126	SPRINGSTEAD HIGH SCHOOL LOCATED ON THE EAST SIDE OF MARINER BLVD. IN FRONT OF SPRINGSTEAD HIGH SCHOOL	26	EA	\$22.00	\$572.00	SH-LS 69	0.015	\$15.00	\$390.00	SH-LS 69	0.015	\$14.70	\$382.20	SH-LS 69	0.015

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	127	SPRINGWOOD RD. #2 LOCATED ON THE LEFT SIDE OF 5292 SPRINGWOOD DR. SPRING HILL 34609	26	EA	\$22.00	\$572.00	SH-LS 82	0.06	\$29.10	\$756.60	SH-LS 82	0.06	\$14.70	\$382.20	SH-LS 82	0.06
X	128	SPRINGWOOD RD. MAIN LOCATED BEHIND 12452 PRESCOTT ST. SPRING HILL 34609	26	EA	\$25.00	\$650.00	SH-LS 81	0.15	\$19.40	\$504.40	SH-LS 81	0.15	\$14.70	\$382.20	SH-LS 81	0.15
X	129	ST. FRANCIS CABRINI LOCATED ON NOREMAC ST. ON CHURCH SIDE OF ROAD	26	EA	\$22.00	\$572.00	SH-LS 77	0.03	\$19.40	\$504.40	SH-LS 77	0.03	\$14.70	\$382.20	SH-LS 77	0.03
X	130	STERLING HILLS #1 LOCATED ON THE CORNER OF STERLING HILL BLVD. AND COVEY RUM PL.	26	EA	\$22.00	\$572.00	AP-LS 23	0.15	\$19.40	\$504.40	AP-LS 23	0.15	\$14.70	\$382.20	AP-LS 23	0.15
X	131	STERLING HILLS #2 LOCATED ON THE NORTH SIDE OF ELGIN BLVD. ON STERLING BLVD.	26	EA	\$22.00	\$572.00	AP-LS 24	0.20	\$19.40	\$504.40	AP-LS 24	0.20	\$14.70	\$382.20	AP-LS 24	0.20

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	132	STERLING HILLS #3 LOCATED AT THE INTERSECTION OF STERLING HILL BLVD. AND WINDANCE AVE.	26	EA	\$22.00	\$572.00	AP-LS 30	0.06	\$19.40	\$504.40	AP-LS 30	0.06	\$14.70	\$382.20	AP-LS 30	0.06
X	133	STERLINGHILLS #4 LOCATED ON STERLINGHILL BLVD. JUST SOUTH OF GOLDEN LIME AVE.	26	EA	\$25.00	\$650.00	AP-LS00	0.15	\$19.40	\$504.40	AP-LS00	0.15	\$14.70	\$382.20	AP-LS00	0.15
X	134	STOCKHOLM ST. LOCATED BEHIND 8202 STOCKHOLM ST., ON THE EDGE OF THE GOLF COURSE	26	EA	\$22.00	\$572.00	GL-LS 33	0.02	\$19.40	\$504.40	GL-LS 33	0.02	\$14.70	\$382.20	GL-LS 33	0.02
X	135	STONEBROOK LOCATED ON THE FRONT RIGHT OF 31283 STONEY BROOK DR, BROOKSVILLE 34602	26	EA	\$22.00	\$572.00	RM-LS 04	0.13	\$29.10	\$756.60	RM-LS 04	0.13	\$14.70	\$382.20	RM-LS 04	0.13
X	136	SUNRISE PLAZA TAKE SR. 50 EAST TO SUNRISE PLAZA. THE LIFT STATION IS BEHIND THE SHOPPING CENTER	26	EA	\$22.00	\$572.00	RM-LS 03	0.02	\$19.40	\$504.40	RM-LS 03	0.02	\$14.70	\$382.20	RM-LS 03	0.02

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	137	SUNSET LANDING LANDOVER BLVD. TO SCOTTVILLE ST. THEN FIRST RIGHT GO TO END OF LOOP	26	EA	\$22.00	\$572.00	SH-LS	0.15	\$19.40	\$504.40	SH-LS	0.15	\$14.70	\$382.20	SH-LS	0.15
X	138	SUZANNE DR. NORTH LOCATED WEST OF US 19 BY NOTRE DAME SCHOOL, ON THE EAST SIDE OF SUZANNE DR.	26	EA	\$25.00	\$650.00	SH-LS 12	0.045	\$15.00	\$390.00	SH-LS 12	0.045	\$14.70	\$382.20	SH-LS 12	0.045
X	139	SUZANNE DR. SOUTH LOCATED AT THE END OF SUZANNE DR. SOUTH	26	EA	\$22.00	\$572.00	SH-LS 20	0.015	\$15.00	\$390.00	SH-LS 20	0.015	\$14.70	\$382.20	SH-LS 20	0.015
X	140	TANNER DR. LOCATED ON THE RIGHT SIDE OF 5249 TANNER RD. SPRING HILL 34609	26	EA	\$22.00	\$572.00	SH-LS 87	0.03	\$19.40	\$504.40	SH-LS 87	0.03	\$14.70	\$382.20	SH-LS 87	0.03
X	141	THRASHER AVE. 16239 COURLAND RD. BROOKSVILLE 34614	26	EA	\$22.00	\$572.00	GL-LS 48	0.44	\$58.15	\$1,511.90	GL-LS 48	0.44	\$24.50	\$637.00	GL-LS 48	0.44
X	142	TOLL PLAZA 14437 COUNTY LINE RD. BROOKSVILLE 34604	26	EA	\$22.00	\$572.00	AP-LS 01	0.12	\$29.10	\$756.60	AP-LS 01	0.12	\$14.70	\$382.20	AP-LS 01	0.12

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	143	TOOKE LAKE LOCATED ON COMMERCIAL WAY NORTH OF GLEN LAKES BLVD. EAST OF US 19	26	EA	\$25.00	\$650.00	GL-LS 01	0.30	\$29.10	\$756.60	GL-LS 01	0.30	\$19.60	\$509.60	GL-LS 01	0.30
X	144	TOUCAN TRAIL LOCATED ON THE CORNER OF TOUCAN TRL. AND BARTLETT ST.	26	EA	\$22.00	\$572.00	SH-LS 41	0.025	\$15.00	\$390.00	SH-LS 41	0.025	\$14.70	\$382.20	SH-LS 41	0.025
X	145	TRILBY CROSSING LOCKHART RD. TURN EAST ON OLD TRILBY RD. ALL THE WAY TO END	26	EA	\$22.00	\$572.00	RM-LS00	0.19	\$29.10	\$756.60	RM-LS00	0.19	\$14.70	\$382.20	RM-LS00	0.19
X	146	TRILLIUM #1 LOCATED NORTH OF WAKE ROBIN DR. ON TRILLIUM BLVD.	26	EA	\$22.00	\$572.00	AP-LS 25	0.04	\$19.40	\$504.40	AP-LS 25	0.04	\$14.70	\$382.20	AP-LS 25	0.04
X	147	WAL-MART LOCATED IN THE WAL-MART ON CORTEZ BLVD. PARKING LOT ON THE SOUTHWEST SIDE	26	EA	\$22.00	\$572.00	GL-LS 45	0.085	\$15.00	\$390.00	GL-LS 45	0.085	\$14.70	\$382.20	GL-LS 45	0.085

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					BigKing Services				Central Florida Landscaping, Inc.				ESB Light LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	148	WEEKI WACHEE MAIN LOCATED AT 6201 COMMERCIAL WAY WEEKI WACHEE 34613	26	EA	\$25.00	\$650.00	GL-LS 28	0.65	\$29.10	\$756.60	GL-LS 28	0.65	\$39.20	\$1,019.20	GL-LS 28	0.65
X	149	WHISPERING OAKS #1 LOCATED TO THE LEFT SIDE OF 6074 BEECHWOOD DR. NEXT TO THE GOLF CART PATH	26	EA	\$22.00	\$572.00	RM-LS 15	0.05	\$29.10	\$756.60	RM-LS 15	0.05	\$14.70	\$382.20	RM-LS 15	0.05
X	150	WINDRIDGE WAY LOCATED TO THE RIGHT OF 8339 WINFRIDGE WAY WEEKI WACHEE 34613	26	EA	\$22.00	\$572.00	GL-LS 27	0.03	\$19.40	\$504.40	GL-LS 27	0.03	\$14.70	\$382.20	GL-LS 27	0.03
X	151	WINTER ST. LOCATED AT 15425 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$22.00	\$572.00	BK-LS 22	0.35	\$15.00	\$390.00	BK-LS 22	0.35	\$19.60	\$509.60	BK-LS 22	0.35
Total						\$102,908.00				\$91,523.90				\$64,719.20		

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES (Table 3 of 4)

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
PART I - LIFT STATIONS																
X	1	50 & 98 EAST SIDE OF 98 NEAR THE INTERSECTION OF 50 & US 98	26	EA	\$100.00	\$2,600.00	RM-LS 12	0.43	\$40.00	\$1,040.00	RM-LS 12	0.43	\$107.93	\$2,806.18	RM-LS 12	0.43
X	2	301 & 50 SR 50 EAST TO 301 BEHIND RIDGE MANOR APARTMENTS	26	EA	\$298.00	\$7,748.00	RM-LS 13	0.67	\$40.00	\$1,040.00	RM-LS 13	0.67	\$168.17	\$4,372.42	RM-LS 13	0.67
X	3	ACTION ST. LOCATED TO THE RIGHT OF 14247 ACTION ST. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	BK-LS 08	0.02	\$40.00	\$1,040.00	BK-LS 08	0.02	\$5.02	\$130.52	BK-LS 08	0.02
X	4	ALMOND CT. LOCATED TO THE LEFT OF 4328 ALMOND CT SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 49	0.07	\$40.00	\$1,040.00	SH-LS 49	0.07	\$17.57	\$456.82	SH-LS 49	0.07
X	5	AMBERJACK DR. LOCATED ON THE CORNER OF AMBERJACK DR. AND SEA BASS DR. IN HERNANDO BEACH SOUTH	26	EA	\$100.00	\$2,600.00	HB-LS 36	0.075	\$40.00	\$1,040.00	HB-LS 36	0.075	\$18.825	\$489.45	HB-LS 36	0.075

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	6	ANDERSON SNOW RD. 2225 ANDERSON SNOW RD. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	AP-LS 33	0.10	\$40.00	\$1,040.00	AP-LS 33	0.10	\$25.10	\$652.60	AP-LS 33	0.10
X	7	APPLEGATE EAST OF LORI DR. ON THE SOUTH SIDE OF APPLEGATE (TIRES PLUS)	26	EA	\$100.00	\$2,600.00	SH-LS 05	0.02	\$35.00	\$910.00	SH-LS 05	0.02	\$5.02	\$130.52	SH-LS 05	0.02
X	8	AUDIBROOK DR. LOCATED ACROSS FROM 11082 AUDIE BROOK DR. SPRING HILL 34608, NEXT TO THE GOLF CART PATH	26	EA	\$100.00	\$2,600.00	SH-LS 65	0.10	\$40.00	\$1,040.00	SH-LS 65	0.10	\$25.10	\$652.60	SH-LS 65	0.10
X	9	AUTO-ZONE NORTH SIDE OF SPRING HILL DR. N.E. CORNER BEHIND AUTO-SONE NEAR US 19	26	EA	\$100.00	\$2,600.00	SH-LS 04	0.08	\$40.00	\$1,040.00	SH-LS 04	0.08	\$20.08	\$522.08	SH-LS 04	0.08
X	10	AVALON #1 13639 HUNTERS POINT ST. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	AP-LS 27	0.04	\$35.00	\$910.00	AP-LS 27	0.04	\$10.04	\$261.04	AP-LS 27	0.04
X	11	AVALON #2 950 OAK CHASE BLVD SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	AP-LS 26	0.04	\$35.00	\$910.00	AP-LS 26	0.04	\$10.04	\$261.04	AP-LS 26	0.04

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	12	AVALON #3 COUNTY LINE RD. JUST WEST OF OAK CHASE BLVD. NEW ENTRANCE TO AVALON	26	EA	\$100.00	\$2,600.00	AP-LS00	0.04	\$35.00	\$910.00	AP-LS00	0.04	\$10.04	\$261.04	AP-LS00	0.04
X	13	BARCLAY AVE. LOCATED ON THE CORNER OF BARCLAY AVE. AND ASTAIRE LN.	26	EA	\$100.00	\$2,600.00	AP-LS 35	0.06	\$40.00	\$1,040.00	AP-LS 35	0.06	\$15.06	\$391.56	AP-LS 35	0.06
X	14	BASIL ST. ACROSS THE STREET FROM 9246 BASIL ST.	26	EA	\$100.00	\$2,600.00	BK-LS 17	0.04	\$40.00	\$1,040.00	BK-LS 17	0.04	\$10.04	\$261.04	BK-LS 17	0.04
X	15	BASS RD. LOCATED ON THE CORNER OF WESTSIDE AVE. AND BASS RD.	26	EA	\$100.00	\$2,600.00	WW-LS 23	0.03	\$40.00	\$1,040.00	WW-LS 23	0.03	\$7.53	\$195.78	WW-LS 23	0.03
X	16	BAY DR. EAST LOCATED TO THE LEFT OF 9229 BAY DR. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 46	0.05	\$40.00	\$1,040.00	SH-LS 46	0.05	\$12.55	\$326.30	SH-LS 46	0.05
X	17	BAY DR. WEST LOCATED ON BAY DR. ACROSS FORM PAVIA LN.	26	EA	\$100.00	\$2,600.00	SH-LS 45	0.05	\$40.00	\$1,040.00	SH-LS 45	0.05	\$12.55	\$326.30	SH-LS 45	0.05

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	18	BEST WESTERN SR 50 NORTH ON LAROSE ON THE EAST SIDE OF THE HOLIDAY INN	26	EA	\$100.00	\$2,600.00	RM-LS 10	0.30	\$40.00	\$1,040.00	RM-LS 10	0.30	\$75.30	\$1,957.80	RM-LS 10	0.30
X	19	BEVERLY CT. LOCATED TO THE RIGHT OF 392 BEVERLY CT.	26	EA	\$100.00	\$2,600.00	SH-LS 18	0.04	\$40.00	\$1,040.00	SH-LS 18	0.04	\$10.04	\$261.04	SH-LS 18	0.04
X	20	BRAEWOOD SR 50 EAST TO BRAEWOOD ON HECKLEMAN ST. INCLUDES POND AREA	26	EA	\$100.00	\$2,600.00	RM-LS 17	0.35	\$40.00	\$1,040.00	RM-LS 17	0.35	\$87.85	\$2,284.10	RM-LS 17	0.35
X	21	BROOKRIDGE BLVD. LOCATED IN THE OPEN EASEMENT BETWEEN 14849 AND 14869 BROOKRIDGE BLVD, ON THE EDGE OF THE GOLF COURSE	26	EA	\$100.00	\$2,600.00	BK-LS 05	0.25	\$40.00	\$1,040.00	BK-LS 05	0.25	\$62.75	\$1,631.50	BK-LS 05	0.25
X	22	BURGER KING ON THE EAST SIDE OF NATURE COAST DR. BY BURGER KING	26	EA	\$100.00	\$2,600.00	RM-LS 11	0.30	\$40.00	\$1,040.00	RM-LS 11	0.30	\$75.30	\$1,957.80	RM-LS 11	0.30
X	23	BROOKSVILLE HOSPITAL 17222 HOSPITAL ST. BROOKSVILLE 34601	26	EA	\$100.00	\$2,600.00	BK-LS 24	0.06	\$40.00	\$1,040.00	BK-LS 24	0.06	\$15.06	\$391.56	BK-LS 24	0.06

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	24	CAMPANERO ENTRA LOCATED JUST ACROSS THE BRIDGE ON CAMPANERO ENTRA	26	EA	\$100.00	\$2,600.00	HB-LS 19	0.15	\$40.00	\$1,040.00	HB-LS 19	0.15	\$37.65	\$978.90	HB-LS 19	0.15
X	25	CARTEE AVE. SOUTH OF NORTHCLIFF BLVD. ON WEST SIDE OF CARTEE BY PROPANE PLANT	26	EA	\$100.00	\$2,600.00	SH-LS 59	0.10	\$40.00	\$1,040.00	SH-LS 59	0.10	\$25.10	\$652.60	SH-LS 59	0.10
X	26	CASINO CT. LOCATED BEHIND 4053 CASINO CT. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	BM-LS 04	0.04	\$40.00	\$1,040.00	BM-LS 04	0.04	\$10.04	\$261.04	BM-LS 04	0.04
X	27	CHALMER ST. WEST OF LANDOVER ON THE SOUTH SIDE OF CHALMER BY RETENTION DITCH	26	EA	\$100.00	\$2,600.00	SH-LS 62	0.06	\$40.00	\$1,040.00	SH-LS 62	0.06	\$15.06	\$391.56	SH-LS 62	0.06
X	28	CINEMA (OUTLET MALL) LOCATED BEHIND 3021 COMMERCIAL WAY SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 16	0.10	\$40.00	\$1,040.00	SH-LS 16	0.10	\$25.10	\$652.60	SH-LS 16	0.10
X	29	CIRCUIT WAY 2305 CIRCUIT WAY BROOKSVILLE 34604	26	EA	\$100.00	\$2,600.00	AP-LS 02	0.06	\$40.00	\$1,040.00	AP-LS 02	0.06	\$15.06	\$391.56	AP-LS 02	0.06

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	30	COFER RD. LOCATED OFF COFER RD. HALF A MILE WEST OF SHOAL LINE BLVD.	26	EA	\$100.00	\$2,600.00	WW-LS 01A	0.50	\$40.00	\$1,040.00	WW-LS 01A	0.50	\$125.50	\$3,263.00	WW-LS 01A	0.50
X	31	COFER RD. (REAR) LOCATED ON THE SAME PROPERTY AS COFER RD. LIFT STATION	26	EA	\$500.00	\$13,000.00	WW-LS01	2.5	\$100.00	\$2,600.00	WW-LS01	2.5	\$627.50	\$16,315.00	WW-LS01	2.5
X	32	CORRINE AVE. LOCATED TO THE LEFT OF 12333 CORRINE AVE. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	SH-LS 84	0.06	\$40.00	\$1,040.00	SH-LS 84	0.06	\$15.06	\$391.56	SH-LS 84	0.06
X	33	CORRINE AVE. MAIN LOCATED TO THE LEFT OF 12469 CORRINE AVE. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	SH-LS 83	0.15	\$40.00	\$1,040.00	SH-LS 83	0.15	\$37.65	\$978.90	SH-LS 83	0.15
X	34	CORTEZ OAKS OFF HWY 50 WEST OF OAKHILL HOSPITAL, TURN ON CORTEZ OAKS BLVD THEN 2ND LEFT ON FRONTAGE RD. THEN ABOUT 300' ON NORTH SIDE OF STREET.	26	EA	\$100.00	\$2,600.00	GL-LS00	0.10	\$40.00	\$1,040.00	GL-LS00	0.10	\$25.10	\$652.60	GL-LS00	0.10

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	35	CRACKER BARREL LOCATED ON THE CORNER OF BRONSON BLVD. AND CRACKER XING	26	EA	\$100.00	\$2,600.00	RM-LS 05	0.05	\$40.00	\$1,040.00	RM-LS 05	0.05	\$12.55	\$326.30	RM-LS 05	0.05
X	36	CRANBROOK CT. LOCATED BETWEEN 6308 AND 6320 CRANBROOK CT. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 21	0.08	\$40.00	\$1,040.00	SH-LS 21	0.08	\$20.08	\$522.08	SH-LS 21	0.08
X	37	CRESENT RD. LOCATED TO THE LEFT OF 4438 CRESENT RD. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 50	0.08	\$40.00	\$1,040.00	SH-LS 50	0.08	\$20.08	\$522.08	SH-LS 50	0.08
X	38	CROWN POINT TAKE ANDERSON SNOW RD. TO CHALLICE DR., STATION IS ON THE LEFT RIGHT AFTER TIERRA DR.	26	EA	\$100.00	\$2,600.00	AP-LS 29	0.013	\$40.00	\$1,040.00	AP-LS 29	0.013	\$3.263	\$84.838	AP-LS 29	0.013
X	39	DALAVAN DR. SOUTH OF BROOKRIDGE BLVD. ON DALAVAN DR.	26	EA	\$100.00	\$2,600.00	BK-LS 03	0.04	\$40.00	\$1,040.00	BK-LS 03	0.04	\$10.04	\$261.04	BK-LS 03	0.04
X	40	DEERFIELD #1 CANDY DR. OFF OF SPRING HILL DR. IN DEERFIELD SUBDIVISION	26	EA	\$100.00	\$2,600.00	AP-LS 09	0.05	\$35.00	\$910.00	AP-LS 09	0.05	\$12.55	\$326.30	AP-LS 09	0.05

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	41	DEERFIELD #2 CELEBRATION DR. JUST NORTH OF DREAMS BEGIN LN.	26	EA	\$100.00	\$2,600.00	AP-LS 28	0.06	\$35.00	\$910.00	AP-LS 28	0.06	\$15.06	\$391.56	AP-LS 28	0.06
X	42	DELLA CT. OFF CARIBBEAN DR. EAST OF US 19 BEHIND PALACE GRAND	26	EA	\$100.00	\$2,600.00	SH-LS 22	0.03	\$40.00	\$1,040.00	SH-LS 22	0.03	\$7.53	\$195.78	SH-LS 22	0.03
X	43	DELSILVER DR. ACROSS FROM 14101 DELSILVER DR. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	BK-LS 13	0.08	\$40.00	\$1,040.00	BK-LS 13	0.08	\$20.08	\$522.08	BK-LS 13	0.08
X	44	DENNISTON ST. NORTH LOACTED BEHIND 14133 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$100.00	\$2,600.00	BK-LS 11	0.02	\$40.00	\$1,040.00	BK-LS 11	0.02	\$5.02	\$130.52	BK-LS 11	0.02
X	45	DENNISTON ST. SOUTH LOCATED BEHIND 14249 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$100.00	\$2,600.00	BK-LS 14	0.02	\$35.00	\$910.00	BK-LS 14	0.02	\$5.02	\$130.52	BK-LS 14	0.02
X	46	DIABLO DR. LOCATED AT THE CORNER OF BROOKRIDGE BLVD. AND DIABLO DR.	26	EA	\$100.00	\$2,600.00	BK-LS 07	0.01	\$35.00	\$910.00	BK-LS 07	0.01	\$2.51	\$65.26	BK-LS 07	0.01

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	47	DICKENS AVE. LOCATED BETWEEN 8429 AND 8457 DICKENS AVE, AT THE EDGE OF THE GOLF COURSE	26	EA	\$100.00	\$2,600.00	BK-LS 04	0.01	\$40.00	\$1,040.00	BK-LS 04	0.01	\$2.51	\$65.26	BK-LS 04	0.01
X	48	ELGIN BLVD. LOCATED ACROSS FROM 12582 ELGIN BLVD.	26	EA	\$100.00	\$2,600.00	SH-LS 86	0.20	\$40.00	\$1,040.00	SH-LS 86	0.20	\$50.20	\$1,305.20	SH-LS 86	0.20
X	49	EVERGREEN AVE. TAKE WEEPING WILLOW ST. NORTH TO PITCAIRN TURN LEFT, RIGHT ON EVERGREEN AVE. ON THE RIGHT PAST 8450 EVERGREEN AVE.	26	EA	\$100.00	\$2,600.00	GL-LS 30	0.25	\$40.00	\$1,040.00	GL-LS 30	0.25	\$62.75	\$1,631.50	GL-LS 30	0.25
X	50	EVERGREEN WOODS LOCATED TO THE LEFT OF 12260 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	GL-LS 40	0.25	\$40.00	\$1,040.00	GL-LS 40	0.25	\$62.75	\$1,631.50	GL-LS 40	0.25
X	51	EXPLORER ELEMENTARY LOCATED AT 10252 NORTHCLIFF BLVD. BEHIND EXPLORER ELEMENTARY	26	EA	\$100.00	\$2,600.00	SH-LS 91	0.08	\$40.00	\$1,040.00	SH-LS 91	0.08	\$20.08	\$522.08	SH-LS 91	0.08

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	52	EYE CLINIC LOCATED ON SERVICE ROAD BEHIND 14535 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	BK-LS 06	0.10	\$40.00	\$1,040.00	BK-LS 06	0.10	\$25.10	\$652.60	BK-LS 06	0.10
X	53	FAIRCHILD RD. LOCATED BEHIND THE WALL ON THE SOUTH SIDE OF FAIRCHILD RD. BEHIND 451 MARINER BLVD.	26	EA	\$100.00	\$2,600.00	SH-LS 53	0.025	\$40.00	\$1,040.00	SH-LS 53	0.025	\$6.275	\$163.15	SH-LS 53	0.025
X	54	FLAMMER FORD LOCATED ON FRONT OF 3315 COMMERCIAL WAY SPRING HILL 34606, ON THE SOUTH SIDE OF FLAMMER FORD	26	EA	\$100.00	\$2,600.00	SH-LS 26	0.30	\$40.00	\$1,040.00	SH-LS 26	0.30	\$75.30	\$1,957.80	SH-LS 26	0.30
X	55	FLECK REALTY LOCATED BEHIND 5438 SPRING HILL DR. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 06	0.01	\$40.00	\$1,040.00	SH-LS 06	0.01	\$2.51	\$65.26	SH-LS 06	0.01
X	56	FOOD BARN LOCATED TO THE RIGHT OF 15431 FLIGHT PATH DR. BROOKSVILLE 34604	26	EA	\$100.00	\$2,600.00	AP-LS 06	0.15	\$40.00	\$1,040.00	AP-LS 06	0.15	\$37.65	\$978.90	AP-LS 06	0.15

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	57	FT. DADE LOCATED TO THE LEFT OF 34916 MAJOR DADE DR. DADE CITY 33523	26	EA	\$100.00	\$2,600.00	RM-LS 14	0.20	\$40.00	\$1,040.00	RM-LS 14	0.20	\$50.20	\$1,305.20	RM-LS 14	0.20
X	58	GARDENIA DR. LOCATED ACROSS FROM 3359 GARDENIA DR. HERNANDO BEACH 34607	26	EA	\$100.00	\$2,600.00	HB-LS 35	0.15	\$40.00	\$1,040.00	HB-LS 35	0.15	\$37.65	\$978.90	HB-LS 35	0.15
X	59	GLEN RAVEN LOCATED AT THE CORNER OF BROAD ST. AND GLEN RAVEN BLVD.	26	EA	\$100.00	\$2,600.00	AP-LS 18	0.025	\$40.00	\$1,040.00	AP-LS 18	0.025	\$6.275	\$163.15	AP-LS 18	0.025
X	60	GREENTURF RD, LOCATED ACROSS FROM 1082 GREENTURF RD. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 64	0.15	\$40.00	\$1,040.00	SH-LS 64	0.15	\$37.65	\$978.90	SH-LS 64	0.15
X	61	HEATHER BLVD. LOCATED IN THE MEDIAN ACROSS FROM 9026 HEATHER BLVD. WEEKI WACHEE 34613	26	EA	\$100.00	\$2,600.00	GL-LS 21	0.07	\$40.00	\$1,040.00	GL-LS 21	0.07	\$17.57	\$456.82	GL-LS 21	0.07

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	62	HENDERSON ST. LOCATED BEHIND 1269 HUBBARD CT. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 58	0.01	\$40.00	\$1,040.00	SH-LS 58	0.01	\$2.51	\$65.26	SH-LS 58	0.01
X	63	HERMOSA MAIN LOCATED AT THE CORNER OF HERMOSA BLVD. AND SHOAL LINE BLVD.	26	EA	\$100.00	\$2,600.00	HB-LS 33	0.20	\$40.00	\$1,040.00	HB-LS 33	0.20	\$50.20	\$1,305.20	HB-LS 33	0.20
X	64	HERNANDO OAKS #2 LOCATED ON THE CORNER OF GEVALIA DR, AND CASKIE PL.	26	EA	\$100.00	\$2,600.00	AP-LS 22	0.05	\$35.00	\$910.00	AP-LS 22	0.05	\$12.55	\$326.30	AP-LS 22	0.05
X	65	HERNANDO OAKS #3 LOACTED AT 5115 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$100.00	\$2,600.00	AP-LS 31	0.07	\$35.00	\$910.00	AP-LS 31	0.07	\$17.57	\$456.82	AP-LS 31	0.07
X	66	HERNANDO OAKS #4 LOCATED AT 5520 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$100.00	\$2,600.00	AP-LS 32	0.10	\$35.00	\$910.00	AP-LS 32	0.10	\$25.10	\$652.60	AP-LS 32	0.10
X	67	HERNANDO BEACH MAIN LOACTED AT THE CORNER OF CALIENTA ST. AND FLAMINGO BLVD.	26	EA	\$100.00	\$2,600.00	HB-LS 01	0.30	\$40.00	\$1,040.00	HB-LS 01	0.30	\$75.30	\$1,957.80	HB-LS 01	0.30

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	68	HIGATE RD. LOCATED TO THE LEFT OF 5225 HIGATE RD. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	SH-LS 80	0.05	\$40.00	\$1,040.00	SH-LS 80	0.05	\$12.55	\$326.30	SH-LS 80	0.05
X	69	HIGHPOINT MAIN LOCATED AT THE CORNER OF FAIRLANE AVE. AND FORMOSA ST.	26	EA	\$100.00	\$2,600.00	GL-LS 32	0.41	\$40.00	\$1,040.00	GL-LS 32	0.41	\$102.91	\$2,675.66	GL-LS 32	0.41
X	70	HILL-N-DALE LOCATED BETWEEN AND BEHIND 27211 AND 27223 ROPER RD. BROOKSVILLE 34602	26	EA	\$100.00	\$2,600.00	RM-LS 18	0.15	\$40.00	\$1,040.00	RM-LS 18	0.15	\$37.65	\$978.90	RM-LS 18	0.15
X	71	HOLIDAY DR. LOCATED BETWEEN 7263 AND 7271 HOLIDAY DR. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 31	0.13	\$40.00	\$1,040.00	SH-LS 31	0.13	\$32.63	\$848.38	SH-LS 31	0.13
X	72	HOLLAND SPRINGS LOCATED ON CORPORATE BLVD. BETWEEN THE SUNCOAST PKWY AND ANDERSON SNOW RD.	26	EA	\$100.00	\$2,600.00	AP-LS 04	0.35	\$40.00	\$1,040.00	AP-LS 04	0.35	\$87.85	\$2,284.10	AP-LS 04	0.35
X	73	HUT LOCATED ON 3200 BARCLAY AVE. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	AP-LS 07	0.15	\$40.00	\$1,040.00	AP-LS 07	0.15	\$37.65	\$978.90	AP-LS 07	0.15

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	74	IHOP LOCATED BEHIND 3360 COMMERCIAL WAY (I-HOP RESTAURANT)	26	EA	\$100.00	\$2,600.00	BM-LS 09	0.02	\$35.00	\$910.00	BM-LS 09	0.02	\$5.02	\$130.52	BM-LS 09	0.02
X	75	JAIL LOCATED ON THE CORNER OF SPRING HILL DR. AND AIR COMMERCE BLVD.	26	EA	\$100.00	\$2,600.00	AP-LS 12	0.06	\$35.00	\$910.00	AP-LS 12	0.06	\$15.06	\$391.56	AP-LS 12	0.06
X	76	JASON & MILLWOOD LOCATED BETWEEN MILLWOOD RD. AND JASON RD. BEHIND APPARTMENTS	26	EA	\$100.00	\$2,600.00	SH-LS 66	0.01	\$35.00	\$910.00	SH-LS 66	0.01	\$2.51	\$65.26	SH-LS 66	0.01
X	77	KASS CIRCLE LOCATED TO THE LEFT SIDE OF 1291 KASS CIR. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 29	0.04	\$40.00	\$1,040.00	SH-LS 29	0.04	\$10.04	\$261.04	SH-LS 29	0.04
X	78	KFC (WENDY CT.) LOCATED BETWEEN 1190 AND 1166 WENDY CT.	26	EA	\$100.00	\$2,600.00	SH-LS 10	0.02	\$40.00	\$1,040.00	SH-LS 10	0.02	\$5.02	\$130.52	SH-LS 10	0.02
X	79	KIMBALL CT. LOCATED TO THE RIGHT OF 6175 KELVIN ST. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 14	0.13	\$40.00	\$1,040.00	SH-LS 14	0.13	\$32.63	\$848.38	SH-LS 14	0.13

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	80	KIRKLAND AVE. LOCATED TO THE RIGHT OF 4703 KIRKLAND AVE. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 48	0.10	\$40.00	\$1,040.00	SH-LS 48	0.10	\$25.10	\$652.60	SH-LS 48	0.10
X	81	KOHL'S (AERIAL WAY) LOCATED ON THE CORNER OF AERIAL WAY AND AVIATION LOOP DR. ON THE NORTH WEST CORNER	26	EA	\$100.00	\$2,600.00	AP-LS 34	0.10	\$40.00	\$1,040.00	AP-LS 34	0.10	\$25.10	\$652.60	AP-LS 34	0.10
X	82	LOCKER DR. LOCATED ON THE LEFT OF 10307 LOCKER DR. BY THE GOLF COURSE	26	EA	\$100.00	\$2,600.00	SH-LS 63	0.04	\$40.00	\$1,040.00	SH-LS 63	0.04	\$10.04	\$261.04	SH-LS 63	0.04
X	83	LORI DR. NORTH LOCATED ON LORI DR. BEHIND THE HAMPTON INN ON US 19	26	EA	\$100.00	\$2,600.00	SH-LS 07	0.02	\$40.00	\$1,040.00	SH-LS 07	0.02	\$5.02	\$130.52	SH-LS 07	0.02
X	84	LORI DR. SOUTH LOCATED ON THE EST SIDE OF LORI DR. JUST PAST SIR SPEEDY ON US 19	26	EA	\$100.00	\$2,600.00	SH-LS 08	0.02	\$35.00	\$910.00	SH-LS 08	0.02	\$5.02	\$130.52	SH-LS 08	0.02

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	85	MARINER BLVD. CUMBERLAND FARMS LOCATED ACROSS FROM 5260 MARINER BLVD. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	SH-LS 79	0.20	\$40.00	\$1,040.00	SH-LS 79	0.20	\$50.20	\$1,305.20	SH-LS 79	0.20
X	86	MEDICAL CENTER CARINOS TAKE CORTEZ BLVD. TO KADRI BLVD. ACROSS FROM HIGH POINT BLVD. STATION WILL BE ON THE LEFT NEAR THE FIRST CURVE	26	EA	\$100.00	\$2,600.00	GL-LS 39	0.02	\$40.00	\$1,040.00	GL-LS 39	0.02	\$5.02	\$130.52	GL-LS 39	0.02
X	87	MELROSE ST. LOCATED TO THE RIGHT OF 9492 MELROSE ST. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 57	0.02	\$40.00	\$1,040.00	SH-LS 57	0.02	\$5.02	\$130.52	SH-LS 57	0.02
X	88	MIRACLE DR. LOCATED ON THE RIGHT OF 9470 MIRACLE DR. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 52	0.015	\$35.00	\$910.00	SH-LS 52	0.015	\$3.765	\$97.89	SH-LS 52	0.015
X	89	MOOSE LODGE LOCATED BEHIND THE MOOSE LODGE ON MARINER BLVD.	26	EA	\$100.00	\$2,600.00	SH-LS 78	0.01	\$35.00	\$910.00	SH-LS 78	0.01	\$2.51	\$65.26	SH-LS 78	0.01

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	90	MORELLI AVE. LOACTED AT 8063 MORELLI AVE. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	BK-LS 10	0.01	\$35.00	\$910.00	BK-LS 10	0.01	\$2.51	\$65.26	BK-LS 10	0.01
X	91	NORTHCLIFFE BLVD. WEST LOCATED ON THE WEST SIDE OF US 19 ON FRONTAGE RD. ACROSS FROM NORTHCLIFFE BLVD.	26	EA	\$100.00	\$2,600.00	SH-LS 51	0.05	\$40.00	\$1,040.00	SH-LS 51	0.05	\$12.55	\$326.30	SH-LS 51	0.05
X	92	NORTHCLIFFE BLVD. BLACKBURN LOCATED TO THE RIGHT OF 10590 NORTHCLIFFE BLVD. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 70	0.30	\$40.00	\$1,040.00	SH-LS 70	0.30	\$75.30	\$1,957.80	SH-LS 70	0.30
X	93	NORTHCLIFFE BLVD. EAST LOCATED ON THE SOUTH SIDE OF NORTHCLIFFE BLVD. BY US 19	26	EA	\$100.00	\$2,600.00	SH-LS 55	0.05	\$40.00	\$1,040.00	SH-LS 55	0.05	\$12.55	\$326.30	SH-LS 55	0.05
X	94	OVERLAND DR. LOCATED BEHIND 10279 RAYBURN CT. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 56	0.01	\$40.00	\$1,040.00	SH-LS 56	0.01	\$2.51	\$65.26	SH-LS 56	0.01
X	95	PALMGREN LN. LOCATED AT THE CORNER OF PALMGREN LN. AND WOODSTREAM WAY	26	EA	\$100.00	\$2,600.00	SH-LS 61	0.08	\$40.00	\$1,040.00	SH-LS 61	0.08	\$20.08	\$522.08	SH-LS 61	0.08

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	96	PAPA JOE'S TAKE SR 50 EAST TO OGBURN, STATION IS BEHIND PAPA JOE'S RESTAURANT	26	EA	\$100.00	\$2,600.00	RM-LS 20	0.035	\$40.00	\$1,040.00	RM-LS 20	0.035	\$8.785	\$228.41	RM-LS 20	0.035
X	97	PARK LOCATED ON THE LEFT SIDE OF 31064 WILLOW BANK AVE. BROOKSVILLE 34602	26	EA	\$150.00	\$3,900.00	RM-LS 08	0.75	\$40.00	\$1,040.00	RM-LS 08	0.75	\$188.25	\$4,894.50	RM-LS 08	0.75
X	98	PINECONE ST. LOCATED ACROSS THE STREET FROM 12395 PINECONE ST. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	GL-LS 29	0.15	\$40.00	\$1,040.00	GL-LS 29	0.15	\$37.65	\$978.90	GL-LS 29	0.15
X	99	PO-JIMS LOCATED TO THE LEFT OF 12091 CORTEZ BKLD. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	GL-LS 38	0.06	\$40.00	\$1,040.00	GL-LS 38	0.06	\$15.06	\$391.56	GL-LS 38	0.06
X	100	PRISTINE PLACE #2 LOCATED TO THE RIGHT OF 3353 CARMEN AVE. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	AP-LS 11	0.04	\$40.00	\$1,040.00	AP-LS 11	0.04	\$10.04	\$261.04	AP-LS 11	0.04

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	101	QUALITY DR. LOCATED ON QUALITY DR. EAST OF MARINER BLVD. IN FRONT OF SPRING HILL REGIONAL HOSPITAL	26	EA	\$100.00	\$2,600.00	SH-LS 71	0.07	\$40.00	\$1,040.00	SH-LS 71	0.07	\$17.57	\$456.82	SH-LS 71	0.07
X	102	RAIL PARK LOCATED ON FLYER WAY SOUTH OF THE SWFWMD OFFICES	26	EA	\$100.00	\$2,600.00	AP-LS 08	0.15	\$40.00	\$1,040.00	AP-LS 08	0.15	\$37.65	\$978.90	AP-LS 08	0.15
X	103	REDBAY LOCATED IN THE SHERMAN HILLS SUBDIVISION AT 6852 REDBAY DR.	26	EA	\$100.00	\$2,600.00	RM-LS00	0.18	\$40.00	\$1,040.00	RM-LS00	0.18	\$45.18	\$1,174.68	RM-LS00	0.18
X	104	RED LOBSTER LOCATED ON THE EAST SIDE OF US 19 SOUTH OF RED LOBSTER ON THE SERVICE ROAD	26	EA	\$100.00	\$2,600.00	SH-LS 09	0.06	\$40.00	\$1,040.00	SH-LS 09	0.06	\$15.06	\$391.56	SH-LS 09	0.06
X	105	REGENCY OAKS MAIN LOCATED BEHIND 4685 COMMERCIAL WAY ON THE OTHER SIDE OF FRONTAGE RD.	26	EA	\$100.00	\$2,600.00	SH-LS 42	0.25	\$40.00	\$1,040.00	SH-LS 42	0.25	\$62.75	\$1,631.50	SH-LS 42	0.25

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	106	RHANBUOY RD. CLUBHOUSE LOCATED ON RHANBOUT RD. IN BERKELEY MANOR IN FRONT OF THE BERKELEY MANOR CLUB HOUSE	26	EA	\$100.00	\$2,600.00	BM-LS 06	0.025	\$40.00	\$1,040.00	BM-LS 06	0.025	\$6.275	\$163.15	BM-LS 06	0.025
X	107	RHANBUOY RD. LOCATED TO THE RIGHT OF 8131 RHANBOUY RD. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	BM-LS 02	0.05	\$40.00	\$1,040.00	BM-LS 02	0.05	\$12.55	\$326.30	BM-LS 02	0.05
X	108	RIALTO AVE. LOCATED BEHIND AND BETWEEN 14251 AND 14257 RIALTO AVE., ON THE EDGE OF THE GOLF COURSE	26	EA	\$100.00	\$2,600.00	BK-LS 09	0.01	\$35.00	\$910.00	BK-LS 09	0.01	\$2.51	\$65.26	BK-LS 09	0.01
X	109	RIVER RUN BLVD. LOCATED AT 6331 RIVER LODGE LN. WEEKING WACHEE 34607	26	EA	\$100.00	\$2,600.00	SH-LS 92	0.07	\$40.00	\$1,040.00	SH-LS 92	0.07	\$17.57	\$456.82	SH-LS 92	0.07
X	110	ROGERS PARK LOCATED IN FRONT OF 7176 SHOAL LINE BLVD. WEEKI WACHEE 34607	26	EA	\$100.00	\$2,600.00	WW-LS 20	0.01	\$40.00	\$1,040.00	WW-LS 20	0.01	\$2.51	\$65.26	WW-LS 20	0.01

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	111	ROPER RD. LOCATED BETWEEN 26407 AND 26419 MC ALLISTER ST. BROOKSVILLE 34602	26	EA	\$100.00	\$2,600.00	RM-LS 19	0.009	\$35.00	\$910.00	RM-LS 19	0.009	\$2.259	\$58.734	RM-LS 19	0.009
X	112	ROYAL HIGHLANDS LOCATED EAST OF HEATHERWALK ON ST. ANDREWS BLVD. JUST PAST THE GUARD SHACK	26	EA	\$100.00	\$2,600.00	GL-LS 13	0.04	\$40.00	\$1,040.00	GL-LS 13	0.04	\$10.04	\$261.04	GL-LS 13	0.04
X	113	ROYAL HIGHLANDS MAIN LOCATED AT 7748 ST. ANDREWS BLVD. WEEKI WACHEE 34613	26	EA	\$100.00	\$2,600.00	GL-LS 17	0.075	\$40.00	\$1,040.00	GL-LS 17	0.075	\$18.825	\$489.45	GL-LS 17	0.075
X	114	SALEM CT. LOCATED TO THE RIGHT OF 1359 SALEM CT. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 27	0.09	\$40.00	\$1,040.00	SH-LS 27	0.09	\$22.59	\$587.34	SH-LS 27	0.09
X	115	SANDTRAP DR. LOCATED AT THE CORNER OF SANDTRAP DR. AND AUDIEBROOK DR.	26	EA	\$100.00	\$2,600.00	SH-LS 60	0.02	\$40.00	\$1,040.00	SH-LS 60	0.02	\$5.02	\$130.52	SH-LS 60	0.02
X	116	SCEPTER ST. LOCATED AT THE CORNER OF SCEPTER AVE. AND DELSIVER DR.	26	EA	\$100.00	\$2,600.00	BK-LS 16	0.04	\$35.00	\$910.00	BK-LS 16	0.04	\$10.04	\$261.04	BK-LS 16	0.04

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	117	SESAME CT. LOCATED BETWEEN 9333 AND 9343 SESAME CT. SPRING HILL 34608	26	EA	\$100.00	\$2,600.00	SH-LS 47	0.08	\$40.00	\$1,040.00	SH-LS 47	0.08	\$20.08	\$522.08	SH-LS 47	0.08
X	118	SEVILLE PARKWAY LOCATED AT 11261 SEVILLE PKWY. WEEKI WACHEE	26	EA	\$100.00	\$2,600.00	GL-LS 49	0.16	\$40.00	\$1,040.00	GL-LS 49	0.16	\$40.16	\$1,044.16	GL-LS 49	0.16
X	119	SHOPPING CENTER LOCATED BEHIND 31095 CORTEZ BLVD. BROOKSVILLE 34602	26	EA	\$100.00	\$2,600.00	RM-LS 06	0.44	\$40.00	\$1,040.00	RM-LS 06	0.44	\$110.44	\$2,871.44	RM-LS 06	0.44
X	120	SILVER RIDGE LOCATED ACROSS FROM 15175 EASTWOOD TRL. BROOKSVILLE 34604 ON POWELL RD.	26	EA	\$100.00	\$2,600.00	AP-LS 16	0.10	\$40.00	\$1,040.00	AP-LS 16	0.10	\$25.10	\$652.60	AP-LS 16	0.10
X	121	SKYLINE CT. LOCATED ON THE LEFT SIDE OF 6334 SKYLINE CT. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 13	0.07	\$40.00	\$1,040.00	SH-LS 13	0.07	\$17.57	\$456.82	SH-LS 13	0.07

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	122	SPRING HILL DR. AND MARINER LOCATED JUST SOUTH OF SPRING HILL DR. ON THE WEST SIDE OF MARINER BLVD.	26	EA	\$100.00	\$2,600.00	SH-LS 67	0.013	\$35.00	\$910.00	SH-LS 67	0.013	\$3.263	\$84.838	SH-LS 67	0.013
X	123	SPRING HILL DR. CONDOS LOCATED BETWEEN 7556 AND 7560 SPRING HILL DR. SPRING HILL 34606	26	EA	\$100.00	\$2,600.00	SH-LS 36	0.17	\$40.00	\$1,040.00	SH-LS 36	0.17	\$42.67	\$1,109.42	SH-LS 36	0.17
X	124	SPRING HILL ELEMENTARY LOCATED ON THE WEST SIDE OF MARINER BLVD. IN FORNT OF SPRING HILL ELEMENTARY SCHOOL	26	EA	\$100.00	\$2,600.00	SH-LS 85	0.06	\$40.00	\$1,040.00	SH-LS 85	0.06	\$15.06	\$391.56	SH-LS 85	0.06
X	125	SPRINGRIDGE LOCATED AT 8437 INDIAN LAUREL LN. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	BK-LS 23	0.15	\$40.00	\$1,040.00	BK-LS 23	0.15	\$37.65	\$978.90	BK-LS 23	0.15
X	126	SPRINGSTEAD HIGH SCHOOL LOCATED ON THE EAST SIDE OF MARINER BLVD. IN FRONT OF SPRINGSTEAD HIGH SCHOOL	26	EA	\$100.00	\$2,600.00	SH-LS 69	0.015	\$40.00	\$1,040.00	SH-LS 69	0.015	\$3.765	\$97.89	SH-LS 69	0.015

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	127	SPRINGWOOD RD. #2 LOCATED ON THE LEFT SIDE OF 5292 SPRINGWOOD DR. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	SH-LS 82	0.06	\$40.00	\$1,040.00	SH-LS 82	0.06	\$15.06	\$391.56	SH-LS 82	0.06
X	128	SPRINGWOOD RD. MAIN LOCATED BEHIND 12452 PRESCOTT ST. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	SH-LS 81	0.15	\$40.00	\$1,040.00	SH-LS 81	0.15	\$37.65	\$978.90	SH-LS 81	0.15
X	129	ST. FRANCIS CABRINI LOCATED ON NOREMAC ST. ON CHURCH SIDE OF ROAD	26	EA	\$100.00	\$2,600.00	SH-LS 77	0.03	\$35.00	\$910.00	SH-LS 77	0.03	\$7.53	\$195.78	SH-LS 77	0.03
X	130	STERLING HILLS #1 LOCATED ON THE CORNER OF STERLING HILL BLVD. AND COVEY RUM PL.	26	EA	\$100.00	\$2,600.00	AP-LS 23	0.15	\$40.00	\$1,040.00	AP-LS 23	0.15	\$37.65	\$978.90	AP-LS 23	0.15
X	131	STERLING HILLS #2 LOCATED ON THE NORTH SIDE OF ELGIN BLVD. ON STERLING BLVD.	26	EA	\$100.00	\$2,600.00	AP-LS 24	0.20	\$40.00	\$1,040.00	AP-LS 24	0.20	\$50.20	\$1,305.20	AP-LS 24	0.20

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	132	STERLING HILLS #3 LOCATED AT THE INTERSECTION OF STERLING HILL BLVD. AND WINDANCE AVE.	26	EA	\$100.00	\$2,600.00	AP-LS 30	0.06	\$35.00	\$910.00	AP-LS 30	0.06	\$15.06	\$391.56	AP-LS 30	0.06
X	133	STERLINGHILLS #4 LOCATED ON STERLINGHILL BLVD. JUST SOUTH OF GOLDEN LIME AVE.	26	EA	\$100.00	\$2,600.00	AP-LS00	0.15	\$40.00	\$1,040.00	AP-LS00	0.15	\$37.65	\$978.90	AP-LS00	0.15
X	134	STOCKHOLM ST. LOCATED BEHIND 8202 STOCKHOLM ST., ON THE EDGE OF THE GOLF COURSE	26	EA	\$100.00	\$2,600.00	GL-LS 33	0.02	\$35.00	\$910.00	GL-LS 33	0.02	\$5.02	\$130.52	GL-LS 33	0.02
X	135	STONEBROOK LOCATED ON THE FRONT RIGHT OF 31283 STONEY BROOK DR, BROOKSVILLE 34602	26	EA	\$100.00	\$2,600.00	RM-LS 04	0.13	\$40.00	\$1,040.00	RM-LS 04	0.13	\$32.63	\$848.38	RM-LS 04	0.13
X	136	SUNRISE PLAZA TAKE SR. 50 EAST TO SUNRISE PLAZA. THE LIFT STATION IS BEHIND THE SHOPPING CENTER	26	EA	\$100.00	\$2,600.00	RM-LS 03	0.02	\$40.00	\$1,040.00	RM-LS 03	0.02	\$5.02	\$130.52	RM-LS 03	0.02

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	137	SUNSET LANDING LANDOVER BLVD. TO SCOTTVILLE ST. THEN FIRST RIGHT GO TO END OF LOOP	26	EA	\$100.00	\$2,600.00	SH-LS	0.15	\$40.00	\$1,040.00	SH-LS	0.15	\$37.65	\$978.90	SH-LS	0.15
X	138	SUZANNE DR. NORTH LOCATED WEST OF US 19 BY NOTRE DAME SCHOOL, ON THE EAST SIDE OF SUZANNE DR.	26	EA	\$100.00	\$2,600.00	SH-LS 12	0.045	\$40.00	\$1,040.00	SH-LS 12	0.045	\$11.295	\$293.67	SH-LS 12	0.045
X	139	SUZANNE DR. SOUTH LOCATED AT THE END OF SUZANNE DR. SOUTH	26	EA	\$100.00	\$2,600.00	SH-LS 20	0.015	\$35.00	\$910.00	SH-LS 20	0.015	\$3.765	\$97.89	SH-LS 20	0.015
X	140	TANNER DR. LOCATED ON THE RIGHT SIDE OF 5249 TANNER RD. SPRING HILL 34609	26	EA	\$100.00	\$2,600.00	SH-LS 87	0.03	\$40.00	\$1,040.00	SH-LS 87	0.03	\$7.53	\$195.78	SH-LS 87	0.03
X	141	THRASHER AVE. 16239 COURLAND RD. BROOKSVILLE 34614	26	EA	\$100.00	\$2,600.00	GL-LS 48	0.44	\$40.00	\$1,040.00	GL-LS 48	0.44	\$110.44	\$2,871.44	GL-LS 48	0.44
X	142	TOLL PLAZA 14437 COUNTY LINE RD. BROOKSVILLE 34604	26	EA	\$100.00	\$2,600.00	AP-LS 01	0.12	\$40.00	\$1,040.00	AP-LS 01	0.12	\$30.12	\$783.12	AP-LS 01	0.12

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	143	TOOKE LAKE LOCATED ON COMMERCIAL WAY NORTH OF GLEN LAKES BLVD. EAST OF US 19	26	EA	\$100.00	\$2,600.00	GL-LS 01	0.30	\$40.00	\$1,040.00	GL-LS 01	0.30	\$75.30	\$1,957.80	GL-LS 01	0.30
X	144	TOUCAN TRAIL LOCATED ON THE CORNER OF TOUCAN TRL. AND BARTLETT ST.	26	EA	\$100.00	\$2,600.00	SH-LS 41	0.025	\$40.00	\$1,040.00	SH-LS 41	0.025	\$6.275	\$163.15	SH-LS 41	0.025
X	145	TRILBY CROSSING LOCKHART RD. TURN EAST ON OLD TRILBY RD. ALL THE WAY TO END	26	EA	\$100.00	\$2,600.00	RM-LS00	0.19	\$40.00	\$1,040.00	RM-LS00	0.19	\$47.69	\$1,239.94	RM-LS00	0.19
X	146	TRILLIUM #1 LOCATED NORTH OF WAKE ROBIN DR. ON TRILLIUM BLVD.	26	EA	\$100.00	\$2,600.00	AP-LS 25	0.04	\$35.00	\$910.00	AP-LS 25	0.04	\$10.04	\$261.04	AP-LS 25	0.04
X	147	WAL-MART LOCATED IN THE WAL-MART ON CORTEZ BLVD. PARKING LOT ON THE SOUTHWEST SIDE	26	EA	\$100.00	\$2,600.00	GL-LS 45	0.085	\$40.00	\$1,040.00	GL-LS 45	0.085	\$21.335	\$554.71	GL-LS 45	0.085

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES					Frederick's Legacy llc				JDMF llc				NDL LLC			
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	148	WEEKI WACHEE MAIN LOCATED AT 6201 COMMERCIAL WAY WEEKI WACHEE 34613	26	EA	\$130.00	\$3,380.00	GL-LS 28	0.65	\$40.00	\$1,040.00	GL-LS 28	0.65	\$163.15	\$4,241.90	GL-LS 28	0.65
X	149	WHISPERING OAKS #1 LOCATED TO THE LEFT SIDE OF 6074 BEECHWOOD DR. NEXT TO THE GOLF CART PATH	26	EA	\$100.00	\$2,600.00	RM-LS 15	0.05	\$40.00	\$1,040.00	RM-LS 15	0.05	\$12.55	\$326.30	RM-LS 15	0.05
X	150	WINDRIDGE WAY LOCATED TO THE RIGHT OF 8339 WINFRIDGE WAY WEEKI WACHEE 34613	26	EA	\$100.00	\$2,600.00	GL-LS 27	0.03	\$35.00	\$910.00	GL-LS 27	0.03	\$7.53	\$195.78	GL-LS 27	0.03
X	151	WINTER ST. LOCATED AT 15425 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$100.00	\$2,600.00	BK-LS 22	0.35	\$40.00	\$1,040.00	BK-LS 22	0.35	\$87.85	\$2,284.10	BK-LS 22	0.35
Total						\$410,228.00				\$154,960.00				\$128,986.39		

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES (Table 4 of 4)

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
PART I - LIFT STATIONS								
X	1	50 & 98 EAST SIDE OF 98 NEAR THE INTERSECTION OF 50 & US 98	26	EA	\$24.13	\$627.38	RM-LS 12	0.43
X	2	301 & 50 SR 50 EAST TO 301 BEHIND RIDGE MANOR APARTMENTS	26	EA	\$33.78	\$878.28	RM-LS 13	0.67
X	3	ACTION ST. LOCATED TO THE RIGHT OF 14247 ACTION ST. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	BK-LS 08	0.02
X	4	ALMOND CT. LOCATED TO THE LEFT OF 4328 ALMOND CT SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 49	0.07
X	5	AMBERJACK DR. LOCATED ON THE CORNER OF AMBERJACK DR. AND SEA BASS DR. IN HERNANDO BEACH SOUTH	26	EA	\$14.48	\$376.48	HB-LS 36	0.075
X	6	ANDERSON SNOW RD. 2225 ANDERSON SNOW RD. SPRING HILL 34609	26	EA	\$14.48	\$376.48	AP-LS 33	0.10
X	7	APPLEGATE EAST OF LORI DR. ON THE SOUTH SIDE OF APPLEGATE (TIRES PLUS)	26	EA	\$14.48	\$376.48	SH-LS 05	0.02
X	8	AUDIBROOK DR. LOCATED ACROSS FROM 11082 AUDIE BROOK DR. SPRING HILL 34608, NEXT TO THE GOLF CART PATH	26	EA	\$14.48	\$376.48	SH-LS 65	0.10
X	9	AUTO-ZONE NORTH SIDE OF SPRING HILL DR. N.E. CORNER BEHIND AUTO-SONE NEAR US 19	26	EA	\$14.48	\$376.48	SH-LS 04	0.08
X	10	AVALON #1 13639 HUNTERS POINT ST. SPRING HILL 34609	26	EA	\$14.48	\$376.48	AP-LS 27	0.04
X	11	AVALON #2 950 OAK CHASE BLVD SPRING HILL 34609	26	EA	\$14.48	\$376.48	AP-LS 26	0.04

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	12	AVALON #3 COUNTY LINE RD. JUST WEST OF OAK CHASE BLVD. NEW ENTRANCE TO AVALON	26	EA	\$14.48	\$376.48	AP-LS00	0.04
X	13	BARCLAY AVE. LOCATED ON THE CORNER OF BARCLAY AVE. AND ASTAIRE LN.	26	EA	\$14.48	\$376.48	AP-LS 35	0.06
X	14	BASIL ST. ACROSS THE STREET FROM 9246 BASIL ST.	26	EA	\$14.48	\$376.48	BK-LS 17	0.04
X	15	BASS RD. LOCATED ON THE CORNER OF WESTSIDE AVE. AND BASS RD.	26	EA	\$14.48	\$376.48	WW-LS 23	0.03
X	16	BAY DR. EAST LOCATED TO THE LEFT OF 9229 BAY DR. SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 46	0.05
X	17	BAY DR. WEST LOCATED ON BAY DR. ACROSS FORM PAVIA LN.	26	EA	\$14.48	\$376.48	SH-LS 45	0.05
X	18	BEST WESTERN SR 50 NORTH ON LAROSE ON THE EAST SIDE OF THE HOLIDAY INN	26	EA	\$19.30	\$501.80	RM-LS 10	0.30
X	19	BEVERLY CT. LOCATED TO THE RIGHT OF 392 BEVERLY CT.	26	EA	\$14.48	\$376.48	SH-LS 18	0.04
X	20	BRAEWOOD SR 50 EAST TO BRAEWOOD ON HECKLEMAN ST. INCLUDES POND AREA	26	EA	\$19.30	\$501.80	RM-LS 17	0.35
X	21	BROOKRIDGE BLVD. LOCATED IN THE OPEN EASEMENT BETWEEN 14849 AND 14869 BROOKRIDGE BLVD, ON THE EDGE OF THE GOLF COURSE	26	EA	\$14.48	\$376.48	BK-LS 05	0.25
X	22	BURGER KING ON THE EAST SIDE OF NATURE COAST DR. BY BURGER KING	26	EA	\$19.30	\$501.80	RM-LS 11	0.30

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	23	BROOKSVILLE HOSPITAL 17222 HOSPITAL ST. BROOKSVILLE 34601	26	EA	\$14.48	\$376.48	BK-LS 24	0.06
X	24	CAMPANERO ENTRA LOCATED JUST ACROSS THE BRIDGE ON CAMPANERO ENTRA	26	EA	\$14.48	\$376.48	HB-LS 19	0.15
X	25	CARTEE AVE. SOUTH OF NORTHCLIFF BLVD. ON WEST SIDE OF CARTEE BY PROPANE PLANT	26	EA	\$14.48	\$376.48	SH-LS 59	0.10
X	26	CASINO CT. LOCATED BEHIND 4053 CASINO CT. SPRING HILL 34606	26	EA	\$14.48	\$376.48	BM-LS 04	0.04
X	27	CHALMER ST. WEST OF LANDOVER ON THE SOUTH SIDE OF CHALMER BY RETENTION DITCH	26	EA	\$14.48	\$376.48	SH-LS 62	0.06
X	28	CINEMA (OUTLET MALL) LOCATED BEHIND 3021 COMMERCIAL WAY SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 16	0.10
X	29	CIRCUIT WAY 2305 CIRCUIT WAY BROOKSVILLE 34604	26	EA	\$14.48	\$376.48	AP-LS 02	0.06
X	30	COFER RD. LOCATED OFF COFER RD. HALF A MILE WEST OF SHOAL LINE BLVD.	26	EA	\$28.95	\$752.70	WW-LS 01A	0.50
X	31	COFER RD. (REAR) LOCATED ON THE SAME PROPERTY AS COFER RD. LIFT STATION	26	EA	\$115.80	\$3,010.80	WW-LS01	2.5
X	32	CORRINE AVE. LOCATED TO THE LEFT OF 12333 CORRINE AVE. SPRING HILL 34609	26	EA	\$14.48	\$376.48	SH-LS 84	0.06
X	33	CORRINE AVE. MAIN LOCATED TO THE LEFT OF 12469 CORRINE AVE. SPRING HILL 34609	26	EA	\$14.48	\$376.48	SH-LS 83	0.15

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	34	CORTEZ OAKS OFF HWY 50 WEST OF OAKHILL HOSPITAL, TURN ON CORTEZ OAKS BLVD THEN 2ND LEFT ON FRONTAGE RD. THEN ABOUT 300' ON NORTH SIDE OF STREET.	26	EA	\$14.48	\$376.48	GL-LS00	0.10
X	35	CRACKER BARREL LOCATED ON THE CORNER OF BRONSON BLVD. AND CRACKER XING	26	EA	\$14.48	\$376.48	RM-LS 05	0.05
X	36	CRANBROOK CT. LOCATED BETWEEN 6308 AND 6320 CRANBROOK CT. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 21	0.08
X	37	CRESENT RD. LOCATED TO THE LEFT OF 4438 CRESENT RD. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 50	0.08
X	38	CROWN POINT TAKE ANDERSON SNOW RD. TO CHALLICE DR., STATION IS ON THE LEFT RIGHT AFTER TIERRA DR.	26	EA	\$14.48	\$376.48	AP-LS 29	0.013
X	39	DALAVAN DR. SOUTH OF BROOKRIDGE BLVD. ON DALAVAN DR.	26	EA	\$14.48	\$376.48	BK-LS 03	0.04
X	40	DEERFIELD #1 CANDY DR. OFF OF SPRING HILL DR. IN DEERFIELD SUBDIVISION	26	EA	\$14.48	\$376.48	AP-LS 09	0.05
X	41	DEERFIELD #2 CELEBRATION DR. JUST NORTH OF DREAMS BEGIN LN.	26	EA	\$14.48	\$376.48	AP-LS 28	0.06
X	42	DELLA CT. OFF CARIBBEAN DR. EAST OF US 19 BEHIND PALACE GRAND	26	EA	\$14.48	\$376.48	SH-LS 22	0.03
X	43	DELSILVER DR. ACROSS FROM 14101 DELSILVER DR. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	BK-LS 13	0.08

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	44	DENNISTON ST. NORTH LOACTED BEHIND 14133 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$14.48	\$376.48	BK-LS 11	0.02
X	45	DENNISTON ST. SOUTH LOCATED BEHIND 14249 BROOKRIDGE BLVD., ON THE EDGE OF THE GOLF COURSE	26	EA	\$14.48	\$376.48	BK-LS 14	0.02
X	46	DIABLO DR. LOCATED AT THE CORNER OF BROOKRIDGE BLVD. AND DIABLO DR.	26	EA	\$14.48	\$376.48	BK-LS 07	0.01
X	47	DICKENS AVE. LOCATED BETWEEN 8429 AND 8457 DICKENS AVE, AT THE EDGE OF THE GOLF COURSE	26	EA	\$14.48	\$376.48	BK-LS 04	0.01
X	48	ELGIN BLVD. LOCATED ACROSS FROM 12582 ELGIN BLVD.	26	EA	\$14.48	\$376.48	SH-LS 86	0.20
X	49	EVERGREEN AVE. TAKE WEEPING WILLOW ST. NORTH TO PITCAIRN TURN LEFT, RIGHT ON EVERGREEN AVE. ON THE RIGHT PAST 8450 EVERGREEN AVE.	26	EA	\$14.48	\$376.48	GL-LS 30	0.25
X	50	EVERGREEN WOODS LOCATED TO THE LEFT OF 12260 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	GL-LS 40	0.25
X	51	EXPLORER ELEMENTARY LOCATED AT 10252 NORTHCLIFF BLVD. BEHIND EXPLORER ELEMENTARY	26	EA	\$14.48	\$376.48	SH-LS 91	0.08
X	52	EYE CLINIC LOCATED ON SERVICE ROAD BEHIND 14535 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	BK-LS 06	0.10
X	53	FAIRCHILD RD. LOCATED BEHIND THE WALL ON THE SOUTH SIDE OF FAIRCHILD RD. BEHIND 451 MARINER BLVD.	26	EA	\$14.48	\$376.48	SH-LS 53	0.025

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	54	FLAMMER FORD LOCATED ON FRONT OF 3315 COMMERCIAL WAY SPRING HILL 34606, ON THE SOUTH SIDE OF FLAMMER FORD	26	EA	\$19.30	\$501.80	SH-LS 26	0.30
X	55	FLECK REALTY LOCATED BEHIND 5438 SPRING HILL DR. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 06	0.01
X	56	FOOD BARN LOCATED TO THE RIGHT OF 15431 FLIGHT PATH DR. BROOKSVILLE 34604	26	EA	\$14.48	\$376.48	AP-LS 06	0.15
X	57	FT. DADE LOCATED TO THE LEFT OF 34916 MAJOR DADE DR. DADE CITY 33523	26	EA	\$14.48	\$376.48	RM-LS 14	0.20
X	58	GARDENIA DR. LOCATED ACROSS FROM 3359 GARDENIA DR. HERNANDO BEACH 34607	26	EA	\$14.48	\$376.48	HB-LS 35	0.15
X	59	GLEN RAVEN LOCATED AT THE CORNER OF BROAD ST. AND GLEN RAVEN BLVD.	26	EA	\$14.48	\$376.48	AP-LS 18	0.025
X	60	GREENTURF RD, LOCATED ACROSS FROM 1082 GREENTURF RD. SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 64	0.15
X	61	HEATHER BLVD. LOCATED IN THE MEDIAN ACROSS FROM 9026 HEATHER BLVD. WEEKI WACHEE 34613	26	EA	\$14.48	\$376.48	GL-LS 21	0.07
X	62	HENDERSON ST. LOCATED BEHIND 1269 HUBBARD CT. SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 58	0.01
X	63	HERMOSA MAIN LOCATED AT THE CORNER OF HERMOSA BLVD. AND SHOAL LINE BLVD.	26	EA	\$14.48	\$376.48	HB-LS 33	0.20

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	64	HERNANDO OAKS #2 LOCATED ON THE CORNER OF GEVALIA DR, AND CASKIE PL.	26	EA	\$14.48	\$376.48	AP-LS 22	0.05
X	65	HERNANDO OAKS #3 LOACTED AT 5115 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$14.48	\$376.48	AP-LS 31	0.07
X	66	HERNANDO OAKS #4 LOCATED AT 5520 DIANTHA WAY BROOKSVILLE 34604	26	EA	\$14.48	\$376.48	AP-LS 32	0.10
X	67	HERNANDO BEACH MAIN LOACTED AT THE CORNER OF CALIENTA ST. AND FLAMINGO BLVD.	26	EA	\$19.30	\$501.80	HB-LS 01	0.30
X	68	HIGATE RD. LOCATED TO THE LEFT OF 5225 HIGATE RD. SPRING HILL 34609	26	EA	\$14.48	\$376.48	SH-LS 80	0.05
X	69	HIGHPOINT MAIN LOCATED AT THE CORNER OF FAIRLANE AVE. AND FORMOSA ST.	26	EA	\$24.13	\$627.38	GL-LS 32	0.41
X	70	HILL-N-DALE LOCATED BETWEEN AND BEHIND 27211 AND 27223 ROPER RD. BROOKSVILLE 34602	26	EA	\$14.48	\$376.48	RM-LS 18	0.15
X	71	HOLIDAY DR. LOCATED BETWEEN 7263 AND 7271 HOLIDAY DR. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 31	0.13
X	72	HOLLAND SPRINGS LOCATED ON CORPORATE BLVD. BETWEEN THE SUNCOAST PKWY AND ANDERSON SNOW RD.	26	EA	\$19.30	\$501.80	AP-LS 04	0.35
X	73	HUT LOCATED ON 3200 BARCLAY AVE. SPRING HILL 34609	26	EA	\$14.48	\$376.48	AP-LS 07	0.15

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	74	IHOP LOCATED BEHIND 3360 COMMERCIAL WAY (I-HOP RESTAURANT)	26	EA	\$14.48	\$376.48	BM-LS 09	0.02
X	75	JAIL LOCATED ON THE CORNER OF SPRING HILL DR. AND AIR COMMERCE BLVD.	26	EA	\$14.48	\$376.48	AP-LS 12	0.06
X	76	JASON & MILLWOOD LOCATED BETWEEN MILLWOOD RD. AND JASON RD. BEHIND APPARTMENTS	26	EA	\$14.48	\$376.48	SH-LS 66	0.01
X	77	KASS CIRCLE LOCATED TO THE LEFT SIDE OF 1291 KASS CIR. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 29	0.04
X	78	KFC (WENDY CT.) LOCATED BETWEEN 1190 AND 1166 WENDY CT.	26	EA	\$14.48	\$376.48	SH-LS 10	0.02
X	79	KIMBALL CT. LOCATED TO THE RIGHT OF 6175 KELVIN ST. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 14	0.13
X	80	KIRKLAND AVE. LOCATED TO THE RIGHT OF 4703 KIRKLAND AVE. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 48	0.10
X	81	KOHL'S (AERIAL WAY) LOCATED ON THE CORNER OF AERIAL WAY AND AVIATION LOOP DR. ON THE NORTH WEST CORNER	26	EA	\$14.48	\$376.48	AP-LS 34	0.10
X	82	LOCKER DR. LOCATED ON THE LEFT OF 10307 LOCKER DR. BY THE GOLF COURSE	26	EA	\$14.48	\$376.48	SH-LS 63	0.04
X	83	LORI DR. NORTH LOCATED ON LORI DR. BEHIND THE HAMPTON INN ON US 19	26	EA	\$14.48	\$376.48	SH-LS 07	0.02

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	84	LORI DR. SOUTH LOCATED ON THE EST SIDE OF LORI DR. JUST PAST SIR SPEEDY ON US 19	26	EA	\$14.48	\$376.48	SH-LS 08	0.02
X	85	MARINER BLVD. CUMBERLAND FARMS LOCATED ACROSS FROM 5260 MARINER BLVD. SPRING HILL 34609	26	EA	\$14.48	\$376.48	SH-LS 79	0.20
X	86	MEDICAL CENTER CARINOS TAKE CORTEZ BLVD. TO KADRI BLVD. ACROSS FROM HIGH POINT BLVD. STATION WILL BE ON THE LEFT NEAR THE FIRST CURVE	26	EA	\$14.48	\$376.48	GL-LS 39	0.02
X	87	MELROSE ST. LOCATED TO THE RIGHT OF 9492 MELROSE ST. SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 57	0.02
X	88	MIRACLE DR. LOCATED ON THE RIGHT OF 9470 MIRACLE DR. SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 52	0.015
X	89	MOOSE LODGE LOCATED BEHIND THE MOOSE LODGE ON MARINER BLVD.	26	EA	\$14.48	\$376.48	SH-LS 78	0.01
X	90	MORELLI AVE. LOACTED AT 8063 MORELLI AVE. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	BK-LS 10	0.01
X	91	NORTHCLIFFE BLVD. WEST LOCATED ON THE WEST SIDE OF US 19 ON FRONTAGE RD. ACROSS FROM NORTHCLIFFE BLVD.	26	EA	\$14.48	\$376.48	SH-LS 51	0.05
X	92	NORTHCLIFFE BLVD. BLACKBURN LOCATED TO THE RIGHT OF 10590 NORTHCLIFFE BLVD. SPRING HILL 34608	26	EA	\$19.30	\$501.80	SH-LS 70	0.30

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	93	NORTHCLIFFE BLVD. EAST LOCATED ON THE SOUTH SIDE OF NORTHCLIFFE BLVD. BY US 19	26	EA	\$14.48	\$376.48	SH-LS 55	0.05
X	94	OVERLAND DR. LOCATED BEHIND 10279 RAYBURN CT. SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 56	0.01
X	95	PALMGREN LN. LOCATED AT THE CORNER OF PALMGREN LN. AND WOODSTREAM WAY	26	EA	\$14.48	\$376.48	SH-LS 61	0.08
X	96	PAPA JOE'S TAKE SR 50 EAST TO OGBURN, STATION IS BEHIND PAPA JOE'S RESTAURANT	26	EA	\$14.48	\$376.48	RM-LS 20	0.035
X	97	PARK LOCATED ON THE LEFT SIDE OF 31064 WILLOW BANK AVE. BROOKSVILLE 34602	26	EA	\$38.60	\$1,003.60	RM-LS 08	0.75
X	98	PINECONE ST. LOCATED ACROSS THE STREET FROM 12395 PINECONE ST. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	GL-LS 29	0.15
X	99	PO-JIMS LOCATED TO THE LEFT OF 12091 CORTEZ BKLD. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	GL-LS 38	0.06
X	100	PRISTINE PLACE #2 LOCATED TO THE RIGHT OF 3353 CARMEN AVE. SPRING HILL 34609	26	EA	\$14.48	\$376.48	AP-LS 11	0.04
X	101	QUALITY DR. LOCATED ON QUALITY DR. EAST OF MARINER BLVD. IN FRONT OF SPRING HILL REGIONAL HOSPITAL	26	EA	\$14.48	\$376.48	SH-LS 71	0.07
X	102	RAIL PARK LOCATED ON FLYER WAY SOUTH OF THE SWFWMD OFFICES	26	EA	\$14.48	\$376.48	AP-LS 08	0.15

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	103	REDBAY LOCATED IN THE SHERMAN HILLS SUBDIVISION AT 6852 REDBAY DR.	26	EA	\$14.48	\$376.48	RM-LS00	0.18
X	104	RED LOBSTER LOCATED ON THE EAST SIDE OF US 19 SOUTH OF RED LOBSTER ON THE SERVICE ROAD	26	EA	\$14.48	\$376.48	SH-LS 09	0.06
X	105	REGENCY OAKS MAIN LOCATED BEHIND 4685 COMMERCIAL WAY ON THE OTHER SIDE OF FRONTAGE RD.	26	EA	\$14.48	\$376.48	SH-LS 42	0.25
X	106	RHANDBUOY RD. CLUBHOUSE LOCATED ON RHANBOUT RD. IN BERKELEY MANOR IN FRONT OF THE BERKELEY MANOR CLUB HOUSE	26	EA	\$14.48	\$376.48	BM-LS 06	0.025
X	107	RHANBUOY RD. LOCATED TO THE RIGHT OF 8131 RHANBOUY RD. SPRING HILL 34606	26	EA	\$14.48	\$376.48	BM-LS 02	0.05
X	108	RIALTO AVE. LOCATED BEHIND AND BETWEEN 14251 AND 14257 RIALTO AVE., ON THE EDGE OF THE GOLF COURSE	26	EA	\$14.48	\$376.48	BK-LS 09	0.01
X	109	RIVER RUN BLVD. LOCATED AT 6331 RIVER LODGE LN. WEEKING WACHEE 34607	26	EA	\$14.48	\$376.48	SH-LS 92	0.07
X	110	ROGERS PARK LOCATED IN FRONT OF 7176 SHOAL LINE BLVD. WEEKI WACHEE 34607	26	EA	\$14.48	\$376.48	WW-LS 20	0.01
X	111	ROPER RD. LOCATED BETWEEN 26407 AND 26419 MC ALLISTER ST. BROOKSVILLE 34602	26	EA	\$14.48	\$376.48	RM-LS 19	0.009

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	112	ROYAL HIGHLANDS LOCATED EAST OF HEATHERWALK ON ST. ANDREWS BLVD. JUST PAST THE GUARD SHACK	26	EA	\$14.48	\$376.48	GL-LS 13	0.04
X	113	ROYAL HIGHLANDS MAIN LOCATED AT 7748 ST. ANDREWS BLVD. WEEKI WACHEE 34613	26	EA	\$14.48	\$376.48	GL-LS 17	0.075
X	114	SALEM CT. LOCATED TO THE RIGHT OF 1359 SALEM CT. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 27	0.09
X	115	SANDTRAP DR. LOCATED AT THE CORNER OF SANDTRAP DR. AND AUDIEBROOK DR.	26	EA	\$14.48	\$376.48	SH-LS 60	0.02
X	116	SCEPTER ST. LOCATED AT THE CORNER OF SCEPTER AVE. AND DELSIVER DR.	26	EA	\$14.48	\$376.48	BK-LS 16	0.04
X	117	SESAME CT. LOCATED BETWEEN 9333 AND 9343 SESAME CT. SPRING HILL 34608	26	EA	\$14.48	\$376.48	SH-LS 47	0.08
X	118	SEVILLE PARKWAY LOCATED AT 11261 SEVILLE PKWY. WEEKI WACHEE	26	EA	\$14.48	\$376.48	GL-LS 49	0.16
X	119	SHOPPING CENTER LOCATED BEHIND 31095 CORTEZ BLVD. BROOKSVILLE 34602	26	EA	\$24.13	\$627.38	RM-LS 06	0.44
X	120	SILVER RIDGE LOCATED ACROSS FROM 15175 EASTWOOD TRL. BROOKSVILLE 34604 ON POWELL RD.	26	EA	\$14.48	\$376.48	AP-LS 16	0.10
X	121	SKYLINE CT. LOCATED ON THE LEFT SIDE OF 6334 SKYLINE CT. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 13	0.07

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	122	SPRING HILL DR. AND MARINER LOCATED JUST SOUTH OF SPRING HILL DR. ON THE WEST SIDE OF MARINER BLVD.	26	EA	\$14.48	\$376.48	SH-LS 67	0.013
X	123	SPRING HILL DR. CONDOS LOCATED BETWEEN 7556 AND 7560 SPRING HILL DR. SPRING HILL 34606	26	EA	\$14.48	\$376.48	SH-LS 36	0.17
X	124	SPRING HILL ELEMENTARY LOCATED ON THE WEST SIDE OF MARINER BLVD. IN FORNT OF SPRING HILL ELEMENTARY SCHOOL	26	EA	\$14.48	\$376.48	SH-LS 85	0.06
X	125	SPRINGRIDGE LOCATED AT 8437 INDIAN LAUREL LN. BROOKSVILLE 34613	26	EA	\$14.48	\$376.48	BK-LS 23	0.15
X	126	SPRINGSTEAD HIGH SCHOOL LOCATED ON THE EAST SIDE OF MARINER BLVD. IN FRONT OF SPRINGSTEAD HIGH SCHOOL	26	EA	\$14.48	\$376.48	SH-LS 69	0.015
X	127	SPRINGWOOD RD. #2 LOCATED ON THE LEFT SIDE OF 5292 SPRINGWOOD DR. SPRING HILL 34609	26	EA	\$14.48	\$376.48	SH-LS 82	0.06
X	128	SPRINGWOOD RD. MAIN LOCATED BEHIND 12452 PRESCOTT ST. SPRING HILL 34609	26	EA	\$14.48	\$376.48	SH-LS 81	0.15
X	129	ST. FRANCIS CABRINI LOCATED ON NOREMAC ST. ON CHURCH SIDE OF ROAD	26	EA	\$14.48	\$376.48	SH-LS 77	0.03
X	130	STERLING HILLS #1 LOCATED ON THE CORNER OF STERLING HILL BLVD. AND COVEY RUM PL.	26	EA	\$14.48	\$376.48	AP-LS 23	0.15
X	131	STERLING HILLS #2 LOCATED ON THE NORTH SIDE OF ELGIN BLVD. ON STERLING BLVD.	26	EA	\$14.48	\$376.48	AP-LS 24	0.20

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	132	STERLING HILLS #3 LOCATED AT THE INTERSECTION OF STERLING HILL BLVD. AND WINDANCE AVE.	26	EA	\$14.48	\$376.48	AP-LS 30	0.06
X	133	STERLINGHILLS #4 LOCATED ON STERLINGHILL BLVD. JUST SOUTH OF GOLDEN LIME AVE.	26	EA	\$14.48	\$376.48	AP-LS00	0.15
X	134	STOCKHOLM ST. LOCATED BEHIND 8202 STOCKHOLM ST., ON THE EDGE OF THE GOLF COURSE	26	EA	\$14.48	\$376.48	GL-LS 33	0.02
X	135	STONEBROOK LOCATED ON THE FRONT RIGHT OF 31283 STONEY BROOK DR, BROOKSVILLE 34602	26	EA	\$14.48	\$376.48	RM-LS 04	0.13
X	136	SUNRISE PLAZA TAKE SR. 50 EAST TO SUNRISE PLAZA. THE LIFT STATION IS BEHIND THE SHOPPING CENTER	26	EA	\$14.48	\$376.48	RM-LS 03	0.02
X	137	SUNSET LANDING LANDOVER BLVD. TO SCOTTVILLE ST. THEN FIRST RIGHT GO TO END OF LOOP	26	EA	\$14.48	\$376.48	SH-LS	0.15
X	138	SUZANNE DR. NORTH LOCATED WEST OF US 19 BY NOTRE DAME SCHOOL, ON THE EAST SIDE OF SUZANNE DR.	26	EA	\$14.48	\$376.48	SH-LS 12	0.045
X	139	SUZANNE DR. SOUTH LOCATED AT THE END OF SUZANNE DR. SOUTH	26	EA	\$14.48	\$376.48	SH-LS 20	0.015
X	140	TANNER DR. LOCATED ON THE RIGHT SIDE OF 5249 TANNER RD. SPRING HILL 34609	26	EA	\$14.48	\$376.48	SH-LS 87	0.03
X	141	THRASHER AVE. 16239 COURLAND RD. BROOKSVILLE 34614	26	EA	\$24.13	\$627.38	GL-LS 48	0.44
X	142	TOLL PLAZA 14437 COUNTY LINE RD. BROOKSVILLE 34604	26	EA	\$14.48	\$376.48	AP-LS 01	0.12

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

MOWING SERVICES AND GROUND MAINTENANCE - UTILITIES SITES						perfect green		
Selected	Line Item	Description/Location	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Lift Station #	Acres +/-
X	143	TOOKE LAKE LOCATED ON COMMERCIAL WAY NORTH OF GLEN LAKES BLVD. EAST OF US 19	26	EA	\$19.30	\$501.80	GL-LS 01	0.30
X	144	TOUCAN TRAIL LOCATED ON THE CORNER OF TOUCAN TRL. AND BARTLETT ST.	26	EA	\$14.48	\$376.48	SH-LS 41	0.025
X	145	TRILBY CROSSING LOCKHART RD. TURN EAST ON OLD TRILBY RD. ALL THE WAY TO END	26	EA	\$14.48	\$376.48	RM-LS00	0.19
X	146	TRILLIUM #1 LOCATED NORTH OF WAKE ROBIN DR. ON TRILLIUM BLVD.	26	EA	\$14.48	\$376.48	AP-LS 25	0.04
X	147	WAL-MART LOCATED IN THE WAL-MART ON CORTEZ BLVD. PARKING LOT ON THE SOUTHWEST SIDE	26	EA	\$14.48	\$376.48	GL-LS 45	0.085
X	148	WEEKI WACHEE MAIN LOCATED AT 6201 COMMERCIAL WAY WEEKI WACHEE 34613	26	EA	\$38.60	\$1,003.60	GL-LS 28	0.65
X	149	WHISPERING OAKS #1 LOCATED TO THE LEFT SIDE OF 6074 BEECHWOOD DR. NEXT TO THE GOLF CART PATH	26	EA	\$14.48	\$376.48	RM-LS 15	0.05
X	150	WINDRIDGE WAY LOCATED TO THE RIGHT OF 8339 WINFRIDGE WAY WEEKI WACHEE 34613	26	EA	\$14.48	\$376.48	GL-LS 27	0.03
X	151	WINTER ST. LOCATED AT 15425 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$19.30	\$501.80	BK-LS 22	0.35
Total						\$63,746.54		

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS (Table 1 of 3)

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					AB5 Enterprises			Amazing National Services Group, LLC			American Grounds Service			BigKing Services		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
PART II - WATER PLANTS AND WELLS																
X	1	ANTELOPE WATER PLANT 13063 ANTELOPE ST. SPRING HILL 34609	26	EA	\$285.00	\$7,410.00	4.75	\$175.00	\$4,550.00	4.75	\$180.00	\$4,680.00	4.75	\$200.00	\$5,200.00	4.75
X	2	CARTEE WATER PLANT 4300 CARTEE AVE. SPRING HILL 34608	26	EA	\$315.00	\$8,190.00	5.25	\$125.00	\$3,250.00	5.25	\$262.00	\$6,812.00	5.25	\$215.00	\$5,590.00	5.25
X	3	CEDAR LANE WATER PLANT 24230 BROWNING PL. BROOKSVILLE 34601	26	EA	\$36.00	\$936.00	0.60	\$45.00	\$1,170.00	0.60	\$30.00	\$780.00	0.60	\$40.00	\$1,040.00	0.60
X	4	DOGWOOD WATER PLANT 23489 EPPLEY DR. BROOKSVILLE 34601	26	EA	\$30.00	\$780.00	0.50	\$75.00	\$1,950.00	0.50	\$25.00	\$650.00	0.50	\$40.00	\$1,040.00	0.50
X	5	ELDRIDGE WATER PLANT & D.R.A. 9500 ELDRIDGE RD. SPRING HILL 34608	26	EA	\$150.00	\$3,900.00	2.5	\$150.00	\$3,900.00	2.5	\$125.00	\$3,250.00	2.5	\$160.00	\$4,160.00	2.5

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					AB5 Enterprises			Amazing National Services Group, LLC			American Grounds Service			BigKing Services		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	6	GRETNA WATER PLANT 3471 GRETNA DR. SPRING HILL 34609	26	EA	\$375.00	\$9,750.00	6.25	\$200.00	\$5,200.00	6.25	\$312.00	\$8,112.00	6.25	\$280.00	\$7,280.00	6.25
X	7	HEXAM WATER PLANT 10484 MELANIE AVE. WEEKI WACHEE 34613	26	EA	\$300.00	\$7,800.00	5.0	\$200.00	\$5,200.00	5.0	\$250.00	\$6,500.00	5.0	\$215.00	\$5,590.00	5.0
X	8	HILL-N-DALE WATER PLANT 27060 WAKEFIELD DR. BROOKSVILLE 34602	26	EA	\$15.00	\$390.00	0.25	\$20.00	\$520.00	0.25	\$25.00	\$650.00	0.25	\$35.00	\$910.00	0.25
X	9	JAMAICA WATER PLANT 1405 APRICOT LN. SPRING HILL 34606	26	EA	\$270.00	\$7,020.00	4.5	\$200.00	\$5,200.00	4.5	\$225.00	\$5,850.00	4.5	\$215.00	\$5,590.00	4.5
X	10	KILLIAN WATER PLANT 12351 KILLIAN ST. SPRING HILL 34609	26	EA	\$330.00	\$8,580.00	5.5	\$200.00	\$5,200.00	5.5	\$275.00	\$7,150.00	5.5	\$215.00	\$5,590.00	5.5

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					AB5 Enterprises			Amazing National Services Group, LLC			American Grounds Service			BigKing Services		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	11	LINDEN AND DEER WATER PLANT 12179 LINDEN SR. SPRING HILL 34608	26	EA	\$330.00	\$8,580.00	5.5	\$200.00	\$5,200.00	5.5	\$275.00	\$7,150.00	5.5	\$215.00	\$5,590.00	5.5
X	12	LOCKHART WATER PLANT 5427 LOCKHART RD. BROOKSVILLE 34602	26	EA	\$300.00	\$7,800.00	5.0	\$200.00	\$5,200.00	5.0	\$250.00	\$6,500.00	5.0	\$230.00	\$5,980.00	5.0
X	13	RIDGE MANOR E.S.T. WATER PLANT 5310 KETTERING RD. BROOKSVILLE 34602	26	EA	\$36.00	\$936.00	0.60	\$75.00	\$1,950.00	0.60	\$30.00	\$780.00	0.60	\$40.00	\$1,040.00	0.60
X	14	RIDGE MANOR SOUTH WATER PLANT 34374 ORCHID PKWY DADE CITY 33523	26	EA	\$24.00	\$624.00	0.40	\$20.00	\$520.00	0.40	\$25.00	\$650.00	0.40	\$40.00	\$1,040.00	0.40
X	15	RIDGE MANOR WEST WATER PLANT "6371 SHERMAN HILLS BLVD. BROOKSVILLE 34602"	26	EA	\$105.00	\$2,730.00	1.75	\$45.00	\$1,170.00	1.75	\$87.00	\$2,262.00	1.75	\$115.00	\$2,990.00	1.75

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					AB5 Enterprises			Amazing National Services Group, LLC			American Grounds Service			BigKing Services		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	16	ROLLING ACRES WATER PLANT 26475 CONTIENA LN. BROOKSVILLE 34602	26	EA	\$21.00	\$546.00	0.35	\$25.00	\$650.00	0.35	\$25.00	\$650.00	0.35	\$40.00	\$1,040.00	0.35
X	17	ROYAL HIGHLANDS WATER PLANT 7748 ST. ANDREWS BLVD. WEEKI WACHEE 34613	26	EA	\$48.00	\$1,248.00	0.80	\$25.00	\$650.00	0.80	\$40.00	\$1,040.00	0.80	\$70.00	\$1,820.00	0.80
X	18	ROYAL OAKS WATER PLANT 21047 DANDY RD. BROOKSVILLE	26	EA	\$12.00	\$312.00	0.20	\$25.00	\$650.00	0.20	\$25.00	\$650.00	0.20	\$50.00	\$1,300.00	0.20
X	19	SEVILLE WATER PLANT LOCATED OFF PONCE DE LEON BLVD. WEST OF THE POWER LINES THERE WILL BE A CATTLE GATE WITH COUNTY LOCK. TAKE DIRT ROAD AFTER GATE TO WATER PLANT	26	EA	\$240.00	\$6,240.00	4.0	\$200.00	\$5,200.00	4.0	\$200.00	\$5,200.00	4.0	\$180.00	\$4,680.00	4.0

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					AB5 Enterprises			Amazing National Services Group, LLC			American Grounds Service			BigKing Services		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	20	SOUTHWEST WATER PLANT 13191 LAUREN DR. SPRING HILL 34609	26	EA	\$180.00	\$4,680.00	3.0	\$125.00	\$3,250.00	3.0	\$150.00	\$3,900.00	3.0	\$155.00	\$4,030.00	3.0
X	21	TIMBER PINES WATER PLANT 2110 TERRACE VIEW LN. SPRING HILL 34606	26	EA	\$39.00	\$1,014.00	0.65	\$30.00	\$780.00	0.65	\$32.00	\$832.00	0.65	\$40.00	\$1,040.00	0.65
X	22	WEST HERNANDO WATER PLANT 10385 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$120.00	\$3,120.00	2.0	\$100.00	\$2,600.00	2.0	\$100.00	\$2,600.00	2.0	\$115.00	\$2,990.00	2.0
PART III - MOWING MISCELLANEOUS																
X	23	SUNCOAST PUMP STATION 164 SUNCOAST BLVD. SPRING HILL	26	EA	\$24.00	\$624.00	0.40	\$65.00	\$1,690.00	0.40	\$25.00	\$650.00	0.40	\$30.00	\$780.00	0.40
X	24	HILL-N-DALE WELL CORNER OF MOTT AVE. AND ENTERPRISE DR.	26	EA	\$5.00	\$130.00	0.05	\$15.00	\$390.00	0.05	\$25.00	\$650.00	0.05	\$20.00	\$520.00	0.05

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					AB5 Enterprises			Amazing National Services Group, LLC			American Grounds Service			BigKing Services		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	25	ROLLING ACRES & HILL-N-DALE INTERCONNECT CORNER OF ROLLING ACRES DR. AND ATTICA AVE.	26	EA	\$9.00	\$234.00	0.15	\$15.00	\$390.00	0.15	\$25.00	\$650.00	0.15	\$20.00	\$520.00	0.15
X	26	LOCKHART WELL SITE SOUTHWEST CORNER OF TRILBY SUBDIVISION	26	EA	\$15.00	\$390.00	0.25	\$15.00	\$390.00	0.25	\$25.00	\$650.00	0.25	\$20.00	\$520.00	0.25
Total						\$93,964.00			\$66,820.00			\$79,248.00			\$77,870.00	

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS (Table 2 of 3)

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					Central Florida Landscaping, Inc.			ESB Light LLC			Frederick's Legacy llc			JDMF llc		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
PART II - WATER PLANTS AND WELLS																
X	1	ANTELOPE WATER PLANT 13063 ANTELOPE ST. SPRING HILL 34609	26	EA	\$383.25	\$9,964.50	4.75	\$181.30	\$4,713.80	4.75	\$950.00	\$24,700.00	4.75	\$200.00	\$5,200.00	4.75

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					Central Florida Landscaping, Inc.			ESB Light LLC			Frederick's Legacy llc			JDMF llc		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	2	CARTEE WATER PLANT 4300 CARTEE AVE. SPRING HILL 34608	26	EA	\$487.75	\$12,681.50	5.25	\$196.00	\$5,096.00	5.25	\$1,050.00	\$27,300.00	5.25	\$210.00	\$5,460.00	5.25
X	3	CEDAR LANE WATER PLANT 24230 BROWNING PL. BROOKSVILLE 34601	26	EA	\$74.75	\$1,943.50	0.60	\$29.40	\$764.40	0.60	\$120.00	\$3,120.00	0.60	\$40.00	\$1,040.00	0.60
X	4	DOGWOOD WATER PLANT 23489 EPPLEY DR. BROOKSVILLE 34601	26	EA	\$74.75	\$1,943.50	0.50	\$29.40	\$764.40	0.50	\$100.00	\$2,600.00	0.50	\$40.00	\$1,040.00	0.50
X	5	ELDRIDGE WATER PLANT & D.R.A. 9500 ELDRIDGE RD. SPRING HILL 34608	26	EA	\$209.05	\$5,435.30	2.5	\$147.00	\$3,822.00	2.5	\$500.00	\$13,000.00	2.5	\$100.00	\$2,600.00	2.5
X	6	GRETNA WATER PLANT 3471 GRETNA DR. SPRING HILL 34609	26	EA	\$452.90	\$11,775.40	6.25	\$240.10	\$6,242.60	6.25	\$1,250.00	\$32,500.00	6.25	\$260.00	\$6,760.00	6.25

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					Central Florida Landscaping, Inc.			ESB Light LLC			Frederick's Legacy llc			JDMF llc		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	7	HEXAM WATER PLANT 10484 MELANIE AVE. WEEKI WACHEE 34613	26	EA	\$418.05	\$10,869.30	5.0	\$196.00	\$5,096.00	5.0	\$1,000.00	\$26,000.00	5.0	\$200.00	\$5,200.00	5.0
X	8	HILL-N-DALE WATER PLANT 27060 WAKEFIELD DR. BROOKSVILLE 34602	26	EA	\$49.85	\$1,296.10	0.25	\$14.70	\$382.20	0.25	\$100.00	\$2,600.00	0.25	\$40.00	\$1,040.00	0.25
X	9	JAMAICA WATER PLANT 1405 APRICOT LN. SPRING HILL 34606	26	EA	\$418.05	\$10,869.30	4.5	\$181.30	\$4,713.80	4.5	\$900.00	\$23,400.00	4.5	\$180.00	\$4,680.00	4.5
X	10	KILLIAN WATER PLANT 12351 KILLIAN ST. SPRING HILL 34609	26	EA	\$487.75	\$12,681.50	5.5	\$196.00	\$5,096.00	5.5	\$1,100.00	\$28,600.00	5.5	\$220.00	\$5,720.00	5.5
X	11	LINDEN AND DEER WATER PLANT 12179 LINDEN SR. SPRING HILL 34608	26	EA	\$278.70	\$7,246.20	5.5	\$196.00	\$5,096.00	5.5	\$1,100.00	\$28,600.00	5.5	\$220.00	\$5,720.00	5.5

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					Central Florida Landscaping, Inc.			ESB Light LLC			Frederick's Legacy llc			JDMF llc		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	12	LOCKHART WATER PLANT 5427 LOCKHART RD. BROOKSVILLE 34602	26	EA	\$452.90	\$11,775.40	5.0	\$196.00	\$5,096.00	5.0	\$1,000.00	\$26,000.00	5.0	\$200.00	\$5,200.00	5.0
X	13	RIDGE MANOR E.S.T. WATER PLANT 5310 KETTERING RD. BROOKSVILLE 34602	26	EA	\$74.75	\$1,943.50	0.60	\$29.40	\$764.40	0.60	\$100.00	\$2,600.00	0.60	\$40.00	\$1,040.00	0.60
X	14	RIDGE MANOR SOUTH WATER PLANT 34374 ORCHID PKWY DADE CITY 33523	26	EA	\$49.85	\$1,296.10	0.40	\$24.50	\$637.00	0.40	\$100.00	\$2,600.00	0.40	\$40.00	\$1,040.00	0.40
X	15	RIDGE MANOR WEST WATER PLANT "6371 SHERMAN HILLS BLVD. BROOKSVILLE 34602"	26	EA	\$209.05	\$5,435.30	1.75	\$83.30	\$2,165.80	1.75	\$350.00	\$9,100.00	1.75	\$80.00	\$2,080.00	1.75
X	16	ROLLING ACRES WATER PLANT 26475 CONTIENA LN. BROOKSVILLE 34602	26	EA	\$49.85	\$1,296.10	0.35	\$19.60	\$509.60	0.35	\$100.00	\$2,600.00	0.35	\$40.00	\$1,040.00	0.35

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					Central Florida Landscaping, Inc.			ESB Light LLC			Frederick's Legacy llc			JDMF llc		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	17	ROYAL HIGHLANDS WATER PLANT 7748 ST. ANDREWS BLVD. WEEKI WACHEE 34613	26	EA	\$104.55	\$2,718.30	0.80	\$39.20	\$1,019.20	0.80	\$160.00	\$4,160.00	0.80	\$40.00	\$1,040.00	0.80
X	18	ROYAL OAKS WATER PLANT 21047 DANDY RD. BROOKSVILLE	26	EA	\$74.75	\$1,943.50	0.20	\$39.20	\$1,019.20	0.20	\$100.00	\$2,600.00	0.20	\$40.00	\$1,040.00	0.20
X	19	SEVILLE WATER PLANT LOCATED OFF PONCE DE LEON BLVD. WEST OF THE POWER LINES THERE WILL BE A CATTLE GATE WITH COUNTY LOCK. TAKE DIRT ROAD AFTER GATE TO WATER PLANT	26	EA	\$383.25	\$9,964.50	4.0	\$147.00	\$3,822.00	4.0	\$800.00	\$20,800.00	4.0	\$160.00	\$4,160.00	4.0
X	20	SOUTHWEST WATER PLANT 13191 LAUREN DR. SPRING HILL 34609	26	EA	\$243.90	\$6,341.40	3.0	\$122.50	\$3,185.00	3.0	\$600.00	\$15,600.00	3.0	\$120.00	\$3,120.00	3.0

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					Central Florida Landscaping, Inc.			ESB Light LLC			Frederick's Legacy llc			JDMF llc		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	21	TIMBER PINES WATER PLANT 2110 TERRACE VIEW LN. SPRING HILL 34606	26	EA	\$74.75	\$1,943.50	0.65	\$29.40	\$764.40	0.65	\$100.00	\$2,600.00	0.65	\$40.00	\$1,040.00	0.65
X	22	WEST HERNANDO WATER PLANT 10385 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$174.20	\$4,529.20	2.0	\$83.30	\$2,165.80	2.0	\$400.00	\$10,400.00	2.0	\$80.00	\$2,080.00	2.0
PART III - MOWING MISCELLANEOUS																
X	23	SUNCOAST PUMP STATION 164 SUNCOAST BLVD. SPRING HILL	26	EA	\$38.75	\$1,007.50	0.40	\$24.50	\$637.00	0.40	\$100.00	\$2,600.00	0.40	\$40.00	\$1,040.00	0.40
X	24	HILL-N-DALE WELL CORNER OF MOTT AVE. AND ENTERPRISE DR.	26	EA	\$29.10	\$756.60	0.05	\$14.70	\$382.20	0.05	\$100.00	\$2,600.00	0.05	\$40.00	\$1,040.00	0.05
X	25	ROLLING ACRES & HILL-N-DALE INTERCONNECT CORNER OF ROLLING ACRES DR. AND ATTICA AVE.	26	EA	\$29.10	\$756.60	0.15	\$14.70	\$382.20	0.15	\$100.00	\$2,600.00	0.15	\$40.00	\$1,040.00	0.15

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					Central Florida Landscaping, Inc.			ESB Light LLC			Frederick's Legacy llc			JDMF llc		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	26	LOCKHART WELL SITE SOUTHWEST CORNER OF TRILBY SUBDIVISION	26	EA	\$29.10	\$756.60	0.25	\$14.70	\$382.20	0.25	\$100.00	\$2,600.00	0.25	\$40.00	\$1,040.00	0.25
Total						\$139,170.20			\$64,719.20			\$321,880.00			\$71,500.00	

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS (Table 3 of 3)

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					NDL LLC			perfect green			
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-	
PART II - WATER PLANTS AND WELLS											
X	1	ANTELOPE WATER PLANT 13063 ANTELOPE ST. SPRING HILL 34609	26	EA	\$1,192.25	\$30,998.50	4.75	\$178.53	\$4,641.78	4.75	
X	2	CARTEE WATER PLANT 4300 CARTEE AVE. SPRING HILL 34608	26	EA	\$1,317.75	\$34,261.50	5.25	\$193.00	\$5,018.00	5.25	
X	3	CEDAR LANE WATER PLANT 24230 BROWNING PL. BROOKSVILLE 34601	26	EA	\$150.60	\$3,915.60	0.60	\$28.95	\$752.70	0.60	

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					NDL LLC			perfect green		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	4	DOGWOOD WATER PLANT 23489 EPPLEY DR. BROOKSVILLE 34601	26	EA	\$125.50	\$3,263.00	0.50	\$28.95	\$752.70	0.50
X	5	ELDRIDGE WATER PLANT & D.R.A. 9500 ELDRIDGE RD. SPRING HILL 34608	26	EA	\$627.50	\$16,315.00	2.5	\$144.75	\$3,763.50	2.5
X	6	GRETNA WATER PLANT 3471 GRETNA DR. SPRING HILL 34609	26	EA	\$1,568.75	\$40,787.50	6.25	\$236.43	\$6,147.18	6.25
X	7	HEXAM WATER PLANT 10484 MELANIE AVE. WEEKI WACHEE 34613	26	EA	\$1,255.00	\$32,630.00	5.0	\$193.00	\$5,018.00	5.0
X	8	HILL-N-DALE WATER PLANT 27060 WAKEFIELD DR. BROOKSVILLE 34602	26	EA	\$62.75	\$1,631.50	0.25	\$14.48	\$376.48	0.25
X	9	JAMAICA WATER PLANT 1405 APRICOT LN. SPRING HILL 34606	26	EA	\$1,129.50	\$29,367.00	4.5	\$178.53	\$4,641.78	4.5

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					NDL LLC			perfect green		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	10	KILLIAN WATER PLANT 12351 KILLIAN ST. SPRING HILL 34609	26	EA	\$1,380.50	\$35,893.00	5.5	\$193.00	\$5,018.00	5.5
X	11	LINDEN AND DEER WATER PLANT 12179 LINDEN SR. SPRING HILL 34608	26	EA	\$1,380.50	\$35,893.00	5.5	\$193.00	\$5,018.00	5.5
X	12	LOCKHART WATER PLANT 5427 LOCKHART RD. BROOKSVILLE 34602	26	EA	\$1,255.00	\$32,630.00	5.0	\$193.00	\$5,018.00	5.0
X	13	RIDGE MANOR E.S.T. WATER PLANT 5310 KETTERING RD. BROOKSVILLE 34602	26	EA	\$150.60	\$3,915.60	0.60	\$28.95	\$752.70	0.60
X	14	RIDGE MANOR SOUTH WATER PLANT 34374 ORCHID PKWY DADE CITY 33523	26	EA	\$100.40	\$2,610.40	0.40	\$24.13	\$627.38	0.40

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					NDL LLC			perfect green		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	15	RIDGE MANOR WEST WATER PLANT "6371 SHERMAN HILLS BLVD. BROOKSVILLE 34602"	26	EA	\$439.25	\$11,420.50	1.75	\$82.03	\$2,132.78	1.75
X	16	ROLLING ACRES WATER PLANT 26475 CONTIENA LN. BROOKSVILLE 34602	26	EA	\$87.85	\$2,284.10	0.35	\$19.30	\$501.80	0.35
X	17	ROYAL HIGHLANDS WATER PLANT 7748 ST. ANDREWS BLVD. WEEKI WACHEE 34613	26	EA	\$200.80	\$5,220.80	0.80	\$38.60	\$1,003.60	0.80
X	18	ROYAL OAKS WATER PLANT 21047 DANDY RD. BROOKSVILLE	26	EA	\$50.20	\$1,305.20	0.20	\$38.60	\$1,003.60	0.20

EVALUATION TABULATION

ITB No. 26-T01201/JG

Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					NDL LLC			perfect green		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	19	SEVILLE WATER PLANT LOCATED OFF PONCE DE LEON BLVD. WEST OF THE POWER LINES THERE WILL BE A CATTLE GATE WITH COUNTY LOCK. TAKE DIRT ROAD AFTER GATE TO WATER PLANT	26	EA	\$1,004.00	\$26,104.00	4.0	\$144.75	\$3,763.50	4.0
X	20	SOUTHWEST WATER PLANT 13191 LAUREN DR. SPRING HILL 34609	26	EA	\$753.00	\$19,578.00	3.0	\$120.63	\$3,136.38	3.0
X	21	TIMBER PINES WATER PLANT 2110 TERRACE VIEW LN. SPRING HILL 34606	26	EA	\$163.15	\$4,241.90	0.65	\$28.95	\$752.70	0.65
X	22	WEST HERNANDO WATER PLANT 10385 CORTEZ BLVD. BROOKSVILLE 34613	26	EA	\$502.00	\$13,052.00	2.0	\$82.03	\$2,132.78	2.0
PART III - MOWING MISCELLANEOUS										

EVALUATION TABULATION

Invitation to Bid - Mowing Service - Utilities Compounds

EVALUATION TABULATION
 ITB No. 26-T01201/JG
 Mowing Service - Utilities Compounds

WATER PLANTS, WELLS AND MISCELLANEOUS LOCATIONS					NDL LLC			perfect green		
Selected	Line Item	Description	Quantity	Unit of Measure	Price Per Mow	Total Annual Price	Acres +/-	Price Per Mow	Total Annual Price	Acres +/-
X	23	SUNCOAST PUMP STATION 164 SUNCOAST BLVD. SPRING HILL	26	EA	\$100.40	\$2,610.40	0.40	\$24.13	\$627.38	0.40
X	24	HILL-N-DALE WELL CORNER OF MOTT AVE. AND ENTERPRISE DR.	26	EA	\$12.55	\$326.30	0.05	\$14.48	\$376.48	0.05
X	25	ROLLING ACRES & HILL-N-DALE INTERCONNECT CORNER OF ROLLING ACRES DR. AND ATTICA AVE.	26	EA	\$37.65	\$978.90	0.15	\$14.48	\$376.48	0.15
X	26	LOCKHART WELL SITE SOUTHWEST CORNER OF TRILBY SUBDIVISION	26	EA	\$62.75	\$1,631.50	0.25	\$14.48	\$376.48	0.25
Total						\$392,865.20			\$63,730.16	

Felicia Holmes, CPPO, CPPB, NIGP-CPP

For: Carla Rossiter-Smith MSM, PMP, GSM
 Chief Procurement Officer